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TNPSC GROUP I TEST BATCH 2024 

TEST IX  UNIT III – GEOGRAPHY &  
APTITUDE AND MENTAL ABILITY – PERCENTAGE, PROFIT & LOSS 

 
1. Consider the following statement/s is/are true in respect of size of India : 

i. India has 4.42% of the Worlds total land area. 
ii. India has an area of 3.2 million sq.km., making it the seventh  largest country 

in the World. 
a. (i) only    b. (ii) only   c. Both (i) and (ii)  
d. None of the above  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;Ws; ,e;jpah njhlh;ghd rhpahd $w;W / $w;Wfs; fUj;jpy; 
nfhs;sTk;.  
i. cyfpd; nkhj;j epyg;gug;gpy; ,e;jpah 4.42 rjtPjj;ij nfhz;bUf;fpd;wJ.  
ii. ,e;jpahtpd; gug;gsT 3.2 kpy;ypad; rJu fp.kPl;lh;fs;> MfNt ,J cyfpd; VohtJ 

nghpa ehlhf cs;sJ.  
a. i kl;Lk;     b. (ii) kl;Lk;   c. (i), (ii) Mfpa ,uz;Lk; 
d. Nkw;$wpatw;wpy; vJTk; ,y;iy e. tpil njhpatpy;iy 

 
2. The relief of Doklam, which is a trijunction of India, China and Bhutan is a 

a. Mountain range  b. Plateau    c. Plain   
d. Hill    e. Answer not known 
,e;jpa> rPdh kw;Wk; G+l;lhdpd; Kr;re;jpg;ghd> ‘Njhf;yhk;’ - ,d; epyj;Njhw;wk; 
a. kiyj; njhlh;  b. gPlG+kp    c. rkntsp 
c. Fd;W   e. tpil njhpatpy;iy 

 
3. Which of the following pair are correctly matched. 

Hills   Region 
1. Cardamom Hills  - Coromandel Coast 
2. Kaimur Hills  - Konkan Coast 
3. Mahadeo Hills  - Central India 
4. Mikir Hills   - North-East India 
a. All the above  b. 2 and 3    c. 3 and 4  
d. 1, 2 and 3   e. Answer not known 
fPNo nfhLf;fg;gl;ltw;wpy; rhpahdij nghUj;Jf 

kiyfs;    ,lq;fs; 
1. Vyf;fha; kiy  - Nrhokz;lyf; flw;fiu 
2. if%h; kiy  - nfhq;fdf; flw;fiu 
3. kfhjpNah kiy  - kj;jpa ,e;jpah 
4. kpfph; kiy  - tl fpof;F ,e;jpah 
a. Nkw;$wpa midj;Jk; b. 2 kw;Wk; 3    c. 3 kw;Wk; 4 
c. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
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4. Which is the Mountain peak in India that is also known as “The five treasures of 
snows”? 
a. Mount Abu   b. Gurushikar   c. Anaimudi   
d. Kanchenjunga   e. Answer not known 
“Ie;J gzp nghf;fp~q;fs;” vd mwpag;gLk; ,e;jpa kiyr; rpfuk;? 
a. kTz;l; mG   b. FU~pfhh;   c. Mid Kb   
d. fQ;rd; [q;fh   e. tpil njhpatpy;iy 

 
5. How is the hot wind of Western India called? 

a. Norwesters   b. Loo    c. Mountain breeze  
d. Valley breeze  e. Answer not known 
,e;jpahtpd; Nkw;F gFjpapy; tPRk; ntg;gf; fhw;W vt;thW miof;fg;gLfpwJ? 
a. ehh;nt];lh;];  b. Y}    c. kiy fhw;W   
d. gs;sj;jhf;F fhw;W e. tpil njhpatpy;iy 

 
6. Which one of the following is the right bank tributary of Godavari River? 

a. Purna   b. Manjira    c. Penganga   
d. Indravathi   e. Answer not known 
gpd;tUtdtw;Ws; Nfhjhthp ejpapd; tyJ Jiz MW vJ? 
a. G+h;dh   b. kd;[puh    c. ngd;fq;fh 
c. ,e;jpuhtjp   e. tpil njhpatpy;iy 

 
7. Which of the following soil is very rich in Humus?  

a. Laterite soil  b. Forest and mountains soil c. Marshy soil  
d. Alluvial soil  e. Answer not known 
gpd;tUtdtw;Ws; ve;j kz;zpy; caph;rj;J kpf mjpfKs;sJ?  
a. ruis kz;  b. fhl;L kw;Wk; kiy kz;  c. rJg;G epy kz;  
d. tz;ly; kz;   e. tpil njhpatpy;iy 
 

8. The forests are under the direct supervision of the Government and no public entry 
is allowed for collection of timber or grazing of cattle 
a. Reserved Forests  b. Protected Forests   c. Unclassified Forests 
d. Broad-Leaf Forests e. Answer not known 
murpd; Neub fz;fhzpg;gpy; cs;s fhLfs; kw;Wk; kuk; ntl;lTk;> khLfs; 
Nka;g;gjw;F nghJ kf;fis mDkjpf;fhj fhLfs; 
a. xJf;fg;gl;l fhLfs; b. ghJfhf;fg;gl;l fhLfs; c. tifg;gLj;jg;glhj fhLfs; 
d. mfd;w ,iy fhLfs; e. tpil njhpatpy;iy 
 

9. India is a member of the Universal Postal Union since 
a. 1866  b. 1876 c. 1886  d. 1896 e. Answer not known 
,e;jpah> cyf mstpy; jghy; mikg;gpy; vg;NghjpypUe;J cWg;gpduhf cs;sJ 
a. 1866  b. 1876 c. 1886  d. 1896 e. tpil njhpatpy;iy 
 

10. The original language of India is said precede Dravidian language is known as 
a. Persian    b. Kulerian language  c. Chinese language 
d. Bengali  e. Answer not known 
,e;jpa nkhop Njhw;wj;jpy; jpuhtpl nkhopfspy; Ke;jpa nkhop 
a. ghurPfk;  b. nfhNyhpad; nkhop  c. rPd nkhop 
c. ngq;fhyp nkhop e. tpil njhpatpy;iy 
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11. Which is the India’s oldest fold mountain rage? 
a. Zaskar range  b. Karakoram range  c. Aravalli range 
d. Ladakh range  e. Answer not known 
,e;jpahtpd; kpfg; goikahd kbg;G kiyj;njhlh; vJ? 
a. rh];fh; kiyj;njhlh; b. fhuNfhuk; kiyj;njhlh; c. Muty;yp kiyj;njhlh;  
d. ylhf; kiyj;njhlh; e. tpil njhpatpy;iy 
 

12. Match the following: 
List I    List II 
A. Nokrek   1. Odisha 
B. Simlipal   2. Meghalaya 
C. Panchmarhi  3. Arunachal Pradesh 
D. Dehang – Dibang 4. Madhya Pradesh 

A B C D 
a.  2 1 4 3 
b. 1 2 3 4 
c. 2 3 4 1 
d. 3 4 1 2 
e. Answer not known 
gpd;tUtdtw;iw nghUj;jTk;: 
gl;bay; I   gl;bay; II 
A. Nehf;nuf;   1. Xbrh 
B. rpk;ypghy;   2. Nkfhyah 
C. gQ;r;khh;fp   3. Nkfhyah 
D. jp`hq;-jpghq;  4. kj;jpa gpuNjrk; 

A B C D 
a.  2 1 4 3 
b. 1 2 3 4 
c. 2 3 4 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

13. The main land of India extends between  

a. 8˚4’ North Latitude to 37˚6’ North latitude 

    68°7’ East Longitude to 97˚25’ East longitude 

b. 8˚4’ North Latitude to 36˚6’ North latitude 

    68˚7’ East Longitude to 97˚25’ East longitude 

c. 9˚3’ North Latitude to 37˚5’ North latitude 

    68˚7’ East Longitude to 97˚25’ East longitude 

d. 8˚4’ North Latitude to 37˚6’ North latitude 

    68˚7’ East Longitude to 95˚25’ East longitude 
e. Answer not known 
,e;jpahtpd; Kf;fpa epyg;gFjp __________ ,ilNa mike;Js;sJ 

a. 8˚4 tlf;F ml;rNuif Kjy; 37˚6’ tlf;F ml;rNuif tiuapYk; 

68°7’ fpof;F jPh;f;fNuif Kjy; 97˚25’ fpof;F jPh;f;fNuif tiu gutpAs;sd    
b. 8˚4’ tlf;F ml;rNuif Kjy; 36˚6’ tlf;F ml;rNuif tiu 

68˚7’ fpof;F jPh;f;f Nuif Kjy; 97˚25’ fpof;F jPh;f;f Nuif tiu 
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c. 9˚3’ tlf;F ml;rNuif Kjy; 37˚5’ tlf;F ml;rNuif tiu 

68˚7’ fpof;F jPh;f;if Nuif Kjy; 97˚25’ fpof;F jPh;f;f Nuif tiu 
d. 68˚4’ tlf;F ml;rNuif Kjy; 37˚25’ tlf;F ml;rNuif tiuapYk; 

68˚7’ fpof;F jPh;f;if Nuif Kjy; 95˚25’ fpof;F jPh;f;f Nuif tiuapYk; 
e. tpil njhpatpy;iy 
 

14. Match the following: 
A. Karakoram pass   1. Himachal Pradesh 
B. Zojila pass    2. Sikkim 
C. Bomdila pass   3. Jammu and Kashmir 
D. Nathula pass   4. Arunachal Pradesh 

A B C D 
a.  3 1 4 2 
b.  4 3 2 1 
c.  3 4 1 2 
d.  2 1 4 3 
e. Answer not known 
nghUj;Jf. 
A. fhuNfhuk; fztha;  1. ,khr;ry gpuNjrk; 
B. N[h~pyh fztha;  2. rpf;fpk; 
C. nghk;byh fztha;  3. [k;K-fh~;kPh; 
D. ehJyh fztha;   4. mUzhr;rygpuNjrk; 

A B C D 
a.  3 1 4 2 
b.  4 3 2 1 
c.  3 4 1 2 
d.  2 1 4 3 
e. tpil njhpatpy;iy 
 

15. In which season Jet Stream Influences in the Indian monsoon 
a. South – West monsoon   b. Summer and Winter season 
c. Retreating monsoon   d. Rainy Season 
e. Answer not known 
n[l; fhw;Nwhl;lk; ,e;jpa gUt fhw;wpy; ve;j gUtj;jpy; jhf;fj;ij Vw;gLj;JfpwJ? 
a. njd; - Nkw;F gUtfhw;W  b. Nfhil kw;Wk; Fsph;fhyk;  
c. gpd;dilT gUtfhyk;   d. kiof; fhyk;   
e. tpil njhpatpy;iy 
 

16. Consider the folowing 
Assertion (A):Tamilnadu is entirely dependent on rain for recharging its water 
resources. 
Reason (R): The failure of monsoon lead to acute water scarcity and Severe Drought 
in Tamil Nadu 
a. (A) is True, (R) is False 
b. Both (A) and (R) are True and R is the correct explanation of (A) 
c. (A) is False, (R) is True 
d. Both (A) and (R) are Ture but (R) is not the correct explanation of (A) 
e. Answer not known 
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gpd;tUtdtw;iw Ma;f 
$w;W (A): jkpo;ehl;by; ePh; epiyfs; epuk;g KOikahf kioia rhh;e;Js;sJ 
fhuzk; (R): jkpo;ehl;by; gUt fhy kio nga;ahikahy; jz;zPh; gQ;rk; kw;Wk; 
fLikahd twl;rp epyTfpd;wJ. 
a. (A) rhp Mdhy; (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A)-f;F rhpahd tpsf;fk; 
c. (A) jtW Mdhy; (R) rhp 
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) vd;gJ (A)-f;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy  
 

17. The circulation of upper air jet streams in the  
a. Troposphere  b. Stratosphere   c. Mesosphere  
d. Thermosphere  e. Answer not known 
NkyLf;F fhw;W Row;r;rpahd n[l; Xl;lk; fhzg;glf;$ba mLf;F 
a. bNuhNgh];gpah;  b. ];Nul;Nlh];gpah;   c. kPNrh];gpah; 

d. njh;Nkh];gpah;  e. tpil njhpatpy;iy 
 

18. Consider the following 
Assertion A: The Arabian Sea branch of South West monsoon gives Heavy rainfall 
to the West Coast of India. 
Reason R: It is located in the windward side of the Western ghats. 
a. (A) is true but (R) is false 
b. (A) is false, (R) is true 
c. Both (A) and (R) are true; and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): njd;Nkw;F gUtf; fhw;wpd; mugpf;fly; fpisapdhy; ,e;jpahtpd; Nkw;F 
flNyhu gFjpfs; mjpf kioia ngWfpd;wd. 
fhuzk; (R): ,e;j gFjpfs; Nkw;F njhlh;r;rp kiyfspd; fhw;W tPRk; jpirapy; 
mike;Js;sd. 
a. (A) vd;gJ rhp Mdhy; (R) vd;gJ jtW 
b. (A) vd;gJ jtW> (R) vd;gJ rhp 
c. (A) kw;Wk; (R) ,uz;Lk; rhp fhuzk; (R) $w;W (A) I tpsf;FfpwJ 
d. (A) kw;Wk; (R) ,uz;Lk; rhp fhuzk; (R) $w;Wf;fhd (A) rhpahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
 

19. When will be rainfall called cloudburst? 
a. Level of rainfall is equal or greater than 100 mm per hour 
b. Level of rainfall is lower than 20 mm per hour 
c. Level of rainfall is between 20-50 mm per hour 
d. Level of rainfall is between 50-70 mm per hour 
e. Answer not known 
vg;NghJ kioahdJ “jpBh; ngU kio” vd;wiof;fg;gLfpd;wJ? 
a. kzpf;F kioapd; msthdJ 100 kpkP my;yJ mjw;F Nkyhf ,Ue;jhy; 
b. kzpf;F kioapd; msthdJ 20 kpkPf;F Fiwthf ,Ue;jhy; 
c. kzpf;F kioapd; msthdJ 20 Kjy; 50 kpkP ,ilNa ,Ue;jhy; 
d. kzpf;F kioapd; msthdJ 50 kpkP Kjy; 70 kpkP tiu ,Ue;jhy; 
e. tpil njhpatpy;iy 
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20. Gersoppa waterfall is located in _______ river 
a. Tapti   b. Narmada   c. Sharavati 
d. Periyar   e. Answer not Known  
n[unrhg;gh ePh;tPo;r;rp mike;Js;s ejp 
a. jg;jp   b. eh;kjh   c. ruhtjp 
d. nghpahh;   e.  tpil njhpatpy;iy 

 
21. Match the following: 

Dams     State 
A. Obra Dam    1. Maharashtra 
B. Tawa Dam    2. Uttar Pradesh 
C. Hirahud Dam   3. Madya Pradesh 
D. Kadakwasla   4. Odisha 

A B C D 
a.  2 1 3 4 
b. 2 3 4 1 
c. 1 2 4 3 
d. 3 1 4 2 
e. Answer not known 
fPo;fz;ltw;iwg; nghUj;Jf. 
ePh;j;Njf;fk;    khepyq;fs; 
A. xguh ePh;j;Njf;fk;   1. kfhuh~;buh 
B. jth ePh;j;Njf;fk;   2. cj;jpugpuNjrk; 
C. `puhFl; ePh;j;Njf;fk;  3. kj;jpa gpuNjrk; 
D. flf;th];yh ePh;j;Njf;fk; 4. xb~h 

A B C D 
a.  2 1 3 4 
b. 2 3 4 1 
c. 1 2 4 3 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
22. The river Cauvery divides itself into two channels at _____ as Coleroon and 

Cauvery. 
a. Cuddalore    b. Karur   c. Srirangam 
d. Srirangapattinam   e. Answer not known 
fhNthp ejpahdJ jdf;Fj;jhNd _____ vDk; ,lj;jpy; fhy&d; kw;Wk; fhNthpahf 
,uz;L fhy;tha; ejpfshf gphpfpwJ. 
a. flY}h;    b. f&h;   c. =uq;fk; 
d. =uq;fg;gl;bdk;   e. tpil njhpatpy;iy 

 
23. The tributary which is not in connection with Kaveri 

a. Harangi   b. Shimsa   c. Kabani 
d. Kolar   e. Answer not known 
fhtphpAld; njhlh;gpy;yhj fpisejp 
a. `huq;fp   b. rpk;rh   c. fhgpdp   
d. Nfhyhh;   e. tpil njhpatpy;iy 
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24. A layer of loose, heterogeneous material covering solid rock, is 
a. Batholith   b. Regolith    c. Granite 
d. Marble   e. Answer not known 
jpl ghiwia gy;NtW tifg; nghUl;fs; #o;e;J fhzg;gLfpd;w> ,of;fkhd mLf;F 
vJ? 
a. ghj;Njhypj;   b. NuNfhypj;    c. fpuhidl; 
d. khh;gps;   e. tpil njhpatpy;iy 

 
25. Consider the following 

Assertion (A) :India has been divided into 20 river basins/group of river basins, 
comprising 12 major basins and eight composite river basins. 
Reason (R): Each of these basins has a drainage area below 10,000 sq.km. 
a. (A) is true, but (R) is false 
b. Both (A) and (R) are true; and (R) is the correct explanation of (A) 
c. (A) is false, (R) is true, but (R) is not the correct explanation of (A) 
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): ,e;jpah 20 ejpg; gLiffshfg; gphpf;fg;gl;Ls;sJ> ,jpy; 12 nghpa 
gLiffs; kw;Wk; 8 ,izg; gLiffs; cs;sd. 
fhuzk; (R): ,e;j gLiffs; xt;nthd;Wk; 10>000 rJu fpNyh kPl;lUf;Fk; Fiwthd 
tbfhy; gFjpiaf; nfhz;Ls;sJ 
a. (A) $w;W rhp (R) fhuzk; jtW 
b. (A) $w;W kw;Wk; (R) fhuzk; ,uz;Lk; rhp; (A) $w;Wf;fhd (R) fhuzk; rhp 
c. (A) $w;W jtW (R) fhuzk; rhp 
d. (A) $w;W kw;Wk; (R) fhuzk; ,uz;Lk; rhp> (A) $w;Wf;fhd fhuzk; 
e. tpil njhpatpy;iy 

 
26. Chhota Nagpur plateau is called the heart of industrial India, because it is 

a. Near to major iron and steel centers 
b. A big link of roads and railways 
c. Rich in minerals and power fuels 
d. Very fertile for industrial crops 
e. Answer not known 
Nrhl;lh ehf;G+h; gPlG+kp ,e;jpahtpd; njhopy;Jiw ,jak; vd;W miof;fg;gLfpwJ. 
Vnddpy; mJ 
a. Kf;fpa ,Uk;G> v/F ikaq;fSf;F mUfpy; cs;sJ   
b. rhiyfs; kw;Wk; uapy;Ntapd; nghpa ,izg;G    
c. fdpkq;fs; kw;Wk; Mw;wy; vupnghUs;fs; epiwe;Js;sJ 
d. njhopy;Jiw gaph;fSf;F kpfTk; tskhdJ   
e. tpil njhpatpy;iy 

 
27. Which among this is defined as the forestry of the people, for the people and by the 

people? 
a. Community forestry  b. Social forestry  c. Agro-forestry 
d. Commercial forestry  e. Answer not known 
,jpy; ve;j fhL kf;fspDila> kf;fSf;fhf kw;Wk; kf;fshy; Vw;gLj;jg;gl;l tdk; 
vd;W tiuaWf;fg;gLtJ? 
a. rKjhaf; fhLfs;   b. r%ff; fhLfs;  c. Ntshz; fhLfs; 
d. tzpff; fhLfs;   e. tpil njhpatpy;iy 
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28. ___________ was the major sources of irrigation in Tamil Nadu during 2020-21  
a. Canal Irrigation   b. Tank Irrigation  c. Tube well Irrigation 
d. Open well Irrigation  e. Answer not known 
2020-21 -Mk; Mz;by; jkpo;ehl;bd; Kf;fpa ePh;g;ghrd Mjhukhf _________ ,Ue;jJ. 
a. fhy;tha;g; ghrdk;  b. ePh;j;Njf;fg; ghrdk; 
c. Foha;f; fpzw;Wg; ghrdk; d. jpwe;jntsp fpzw;Wg; ghrdk; 
e. tpil njhpatpy;iy 

 
29. Which of the following is wrong Statement? 

i. Tamil Nadu stands second in area and production of coffee next to Karnataka. 
ii Coffee plants are grown only in the hills of Western Ghats. 
iii Tamil Nadu ranks second in area and production of Tea in India next to Assam. 
a. i only  b. ii only  c. i and ii only  d. i and iiii e. Answer not known  
fPo;fz;ltw;Ws; jtwhd $w;wpid Fwpg;gpLf. 
i. fhgp cw;gj;jpapy; mjd; gug;gstpy; fh;ehlhf khepyj;jpw;F mLj;J jkpo;ehL 

,uz;lhkplk; tfpf;fpwJ. 
ii. Nkw;F njhlh;r;rp kiyfspy; kl;Lk; fhgp gaphplg;gLfpwJ 
iii. Njapiy gaphpLk; gug;G kw;Wk; cw;gj;jpapy; ,e;jpahtpy; mrhk; khepyj;jpw;F 

mLj;jg;gbahf jkpo;ehL ,uz;lhkplk; tfpf;fpwJ 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. i kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 

 
30. Which one of the following is the second largest port in India? 

a. Mumbai   b. Mangalore   c. Chennai 
d. Cochin   e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpahtpd; ,uz;lhtJ nghpa JiwKfk; vJ? 
a. Kk;ig    b. kq;f@h;   c. nrd;id   
d. nfhr;rp    e. tpilnjhpatpy;iy 

 
31. Where did the first sub- urban railway started in India? 

a. Kolkatta   b. Chennai   c. Delhi   
d. Mumbai   e. Answer not known 
,e;jpahtpd; Kjy; Gwefh; ,uapy; Nghf;Ftuj;J vq;Fj; njhlq;fg;gl;lJ? 
a. nfhy;fj;jh  b. nrd;id   c. nly;yp 
d. Kk;ig   e. tpil njhpatpy;iy 

 
32. Which of the following are incorrectly paired? 

Zonal Railways  Head Quarters 
1. North Central - Allahabad 
2. Western  - Mangalore 
3.  Central  - Jansi 
4. East Central - Hajipur 
a. 1 and 2   b. 2 and 3   c. 1 and 4 
d. 3 and 4   e. Answer not known 
gpd;tUgtw;Ws; vJ jtwhf ,izf;fg;gl;Ls;sd? 
uapy; kz;lyk;   jiyikafk; 
1. kj;jpa tlf;F - myfhghj; 
2. Nkw;F  - kq;f@h; 
3. kj;jpa  - [hd;rp 
4. kj;jpa fpof;F - `[pG+h;; 
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a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 1 kw;Wk; 4 
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 
33. The Airport Authority of India (AAI) constituted on 

a. 1st April 1965  b. 1st April 1975  c. 1st April 1985 
d. 1st April 1995  e. Answer not Known 
,e;jpa tpkhd epiyaq;fspd; Mizak; (AAI) vg;NghJ mikf;fg;gl;lJ? 
a. 1 Vg;uy; 1965  b. 1 Vg;uy; 1975  c. 1 Vg;uy; 1985 
d. 1 Vg;uy; 1995  e.  tpil njhpatpy;iy 

 
34. National Waterway 1(NW1) connects the cities of ________ and ______ 

a. Allahabad – Haldia b. Dhubri – Sadiya   c. Muktiyala – Vijayawada 
d. Chennai – Puducherry  e. Answer not known 
gpd;tUtdtw;wpy; Njrpa ePh;top 1 (NW1) MdJ __________ efuq;fis 
,izf;fpwJ. 
a. myfhghj; - `hy;bah b. Jg;hp – rhjpah   c. Kj;jpahyh – tp[athlh 
d. nrd;id – GJr;Nrhp e. tpil njhpatpy;iy 

 
35. The headquarters of Central Inland Water transport corporation limited is located 

in 
a. New Delhi   b. Kolkata    c. Noida   
d. Guwahati   e. Answer not known 
kj;jpa cs;ehl;L ePu; Nghf;Ftuj;Jf; fofj;jpd; jiyikafk; vq;F mike;Js;sJ? 
a. GJ nly;yp  b. nfhy;fj;jh   c. neha;lh 
d. fTfhj;jp   e. tpil njhpatpy;iy 

 
36. If x% of y is equal to z, then what percent of z is x?  

a. 
2

100

y
  b. 

2100

y
 c. 

100

y
  d. 

2100

y
 e. Answer not known 

y d; x% rjtPjkhdJ  z f;Fr; rkk; vdpy; x vd;gJ z y; vj;jid rjtPjk;?  

a. 
2

100

y
  b. 

2100

y
 c. 

100

y
  d. 

2100

y
 e. tpil njhpatpy;iy 

  
37. What percentage of 60 is 72?  

a. 80%   b. 120%   c. 84%   
d. 65%   e. Answer not known 
60 vd;gjpd; vj;jid rjtPjk; 72 Mf ,Uf;f KbAk;.  
a. 80%   b. 120%   c. 84%   
d. 65%   e. tpil njhpatpy;iy 

 
38. If 20% of A = B and 40% of B = C then find 60% (A+B) 

a. 30% of C    b. 60% of C    c. 75% of C     
d. none of these   e. Answer not known 
A d; 20% = B kw;Wk; B – d; 40% = C vdpy; (A+B) d; 60% vd;d?  
a. C d; 30%    b. C d; 60%    c. C d; 75%   
d. vJTkpy;iy   e. tpil njhpatpy;iy 
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39. 45% of 640 + 64% of 450 = _________% of 1440  

a. 54  b. 40  c. 45  d. 50   e. Answer not known 

640 ,y; 45% + 450 ,y; 64% = 1440 ,y;  _______%.  

a. 54  b. 40  c. 45  d. 50   e. tpil njhpatpy;iy 

 

40. A number is increased by 22 1
2

% and gives 98. The number is  

a. 45   b. 80  c. 18  d. 81   e. Answer not known 

xU vz;zpy; 22 1
2

% mjpfkhf;fg;gLk; NghJ 98 fpilj;jhy; me;j vz; vd;d?  

a. 45   b. 80  c. 18  d. 81   e. tpil njhpatpy;iy 
 

41. Which of the following four major metro cities are connected under the scheme of 
Golden Quadrilateral? 
a. New Delhi, Hyderabad, Bengaluru and Chennai 
b. New Delhi, Kolkata, Chennai and Bengaluru 
c. New Delhi, Kolkata, Chennai and Mumbai 
d. New Delhi, Nagpur, Bengaluru and Kolkata  
e. Answer not known 
gpd;tUtdtw;Ws; ve;j ehd;F Kf;fpa ngU efuq;fs; jq;f ehw;fuj; jpl;lj;jpd; fPo; 
,izf;fg;gl;Ls;sJ? 
a. GJ nly;yp> i`juhghj;> ngq;f@h; kw;Wk; nrd;id     
b. GJ nly;yp> nfhy;fj;jh> nrd;id kw;Wk; ngq;f@h; 
c. GJ nly;yp> nfhy;fj;jh> nrd;id kw;Wk; Kk;ig 
d. GJ nly;yp> ehf;G+h;> ngq;f@h; kw;Wk; nfhy;fj;jh     
e. tpil njhpatpy;iy 

 
42. Match the following: 

Festivals   States 
A. Losar   1. Telengana 
B. Bonalu   2. Ladakh 
C. Pooram   3. Assam 
D. Bihu   4. Kerala 

 
A B C D 

a. 2 1 4 3 
b. 2 1 3 4 
c.  1 2 3 4 
d. 3 2 1 4 
e. Answer not known 
fPo;f;fhz;gitfis nghUj;Jf: 
tpohf;fs;   khepyq;fs; 
A. Nyhrhh;   1. njyq;fhdh 
B. NghdhY   2. ylhf; 
C. G+uk;    3. mrhk; 
D. gpF   4. Nfush 
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A B C D 
a. 2 1 4 3 
b. 2 1 3 4 
c.  1 2 3 4 
d. 3 2 1 4 
d. tpil njhpatpy;iy 

 
43. In Tamil Nadu the lowest sex ratio has recorded in the district of  

a. Vellore   b. Cuddalore    c. Nilgiri 
d. Dharmapuri  e. Answer not known 
jkpo;ehl;by; ve;j khtl;lk; Fiwthd ghypd tpfpjk; nfhz;Ls;sJ? 
a. NtY}h;   b. flY}h;    c. ePyfphp 
d. jh;kGhp   e. tpil njhpatpy;iy 

 
44. Identify the incorrect justification for the statement given below: 

India’s population is in a stage, where birth rate is falling, death rate also falling and 
population continues to grow: 
a. Family Planning    b. Increase in social responsibility 
c. Increase in standard of living  d. Changing status of women 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s $w;wpw;f;fhd rupay;yhj tpsf;fj;jpid fz;lwpf. 
“,e;jpa kf;fl;njhifapy; epiy vt;thWs;snjd;why; gpwg;G tpfpjk; Fiwe;J 
nfhz;bUf;fpwJ. ,wg;G tpfpjKk; Fiwe;J nfhz;bUf;fpwJ. NkYk; kf;fl;njhif 
tsu;e;J nfhz;Nl ,Uf;fpwJ”. 
a. FLk;g fl;Lg;ghL    b. rKjha nghWg;G mjpfupj;jy;  
c. tho;f;ifj; juk; mjpfupj;jy;  d. khw;wk; milAk; ngz;fspd; epiy 
e. tpil njupatpy;iy 

 
45. Consider the following statements and choose the right option for what under – 

population means 
I. A situation where the number of people that can be supported is the same as 

the available resources 
II. A situation where by the population is considered too large for the available 

resources. 
III. A situation where the population is less than the available resources of a 

country. 
a. Statement I, II and III are right 
b. Statement I is correct and II and III are incorrect 
c. Statement II is correct and I and III are incorrect 
d. Statement III is correct and I and II are incorrect 
e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdkhff; fUj;jpy; nfhz;L nfhLf;fg;gl;Ls;sdtw;Ws; 
“Fiw kf;fs; njhif” Fwpj;J rhpahd thf;fpaj;ij Njh;e;njL 
I. xU Fwpg;gpl;l ,lj;jpy; fhzg;gLk; tsq;fSk; kf;fs; njhifAk; rhpahd 

tpfpjj;jpy; fhzg;gLtJ 
II. xU Fwpg;gpl;l ,lj;jpy;. fhzg;gLk; tsq;fistpl kf;fl;njhif kpFjpahf 

fhzg;gLtJ 
III. xU Fwpg;gpl;l ,lj;jpy; fhzg;gLk; tsq;fistpl kf;fl;njhif Fiwe;J 

fhzg;gLjy; 
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a. thf;fpaq;fs; I, II kw;Wk; III rhp  b. thf;fpak; I rhp II kw;Wk; III jtW 
c. thf;fpak; II rhp I kw;Wk; III jtW d. thf;fpak; III rhp I kw;Wk; II jtW 
e. tpil njhpatpy;iy 

 
46. Arrange the population density in descending order based on 2011 census. 

1. Bihar  2. West Bengal  3. Kerala 4. Uttar Pradesh 
a. 4, 1, 2, 3   b. 1, 2, 4, 3   c. 2, 1, 3, 4 
d. 1, 2, 3, 4   e. Answer not known 
2011> kf;fs; njhif fzf;nfLg;gpd; mbg;gilapy; kf;fs; njhif mlh;j;jpia ,wq;F 
thpirapy; thpirg;gLj;Jf. 
1. gPfhh;  2. Nkw;F tq;fhsk;  3. Nfusk; 4. cj;jpug;gpuNjrk; 
a. 4, 1, 2, 3   b. 1, 2, 4, 3   c. 2, 1, 3, 4 
d. 1, 2, 3, 4   e. tpil njhpatpy;iy 

 

47. The oldest inhabitants of India are considered to be 
a. Mongoloids   b. Negritoes   c. Indo-Aryans 
d. Mediterraneans   e. Answer not known 
,e;jpahtpd; goikahd Fbkf;fs; vd;W fUjg;gLfpwth;fs; 
a. kq;Nfhypah;fs;   b. ePf;Nuhf;fs;   c. ,e;Njh-Mhpah;fs; 
d. kj;jpa jiufly; tho; kf;fs; e. tpil njhpatpy;iy 

 

48. Name the states with no tribes have been scheduled in  
a. Punjab and Haryana   b. Bihar and Jharkhand   
c. Karnataka and Andhra Pradesh d. Nagaland and Sikkim 
e. Answer not known 
ve;j khepyq;fspy; goq;Fbapdh; gl;bapayplg;gltpy;iy? 
a. gQ;rhg; kw;Wk; `hpahdh  b. gPfhh; kw;Wk; [hh;fz;l 
c. fh;ehlhf kw;Wk; Me;jpug;gpuNjrk; d. ehfhye;J kw;Wk; rpf;fpk; 
e. tpil njhpatpy;iy 

 

49. Find the mismatched linguistic group and language: 
(i) The Indo – European family - Arya 
(ii) The Dravidian family  - Tamil 
(iii) Austric Family   - Kannada 
(iv) Sino – Tibetan family  - Kirata 
a. (i) and (ii) only   b. (ii) and (iii) only  c. (iii) only 
d. (i), (ii) and (iv) only  e. Answer not known 
nkhop FOTld; jtwhfg; nghUj;jg;gl;Ls;s nkhopiaf; fhz;f. 
(i) ,e;jpa–INuhg;gpa FLk;gk; - Mh;ah 
(ii) jpuhtpl FLk;gk;   - jkpo; 
(iii) M];l;hpf; FLk;gk;  - fd;dlk; 
(iv) rpNdh-jpngj;jpa FLk;gk; - fpuhjh  
a. (i) kw;Wk; (ii) kl;Lk;  b. (ii) kw;Wk; (iii) kl;Lk;   c. (iii) kl;Lk;  
d. (i)> (ii) kw;Wk; (iv) kl;Lk; e. tpil njhpatpy;iy 
 

50. The circulation of upper air jet streams in the  
a. Troposphere  b. Stratosphere   c. Mesosphere  
d. Thermosphere  e. Answer not known 
NkyLf;F fhw;W Row;r;rpahd n[l; Xl;lk; fhzg;glf;$ba mLf;F 
a. l;NuhNgh];gpah;  b. ];Nul;Nlh];gpah;   c. kPNrh];gpah; 
d. njh;Nkh];gpah;  e. tpil njhpatpy;iy 
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51. Match the local wind system with their locations: 
Local Winds    Locations 
A. Chinook    1. Rocky mountains 
B. Harmattan    2. West Africa 
C. Karaburan    3. Central Asia 
D. Loo     4. India and Pakistan 

A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 1 3 2 4 
d. 3 4 2 1 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s fhw;Wld; mjd; tPRfpw ,lj;ijg; nghUj;Jf. 
jyf;fhw;W    tPRfpd;w ,lk; 
A. rpD}f;    1. uhf;fp kiy 
B. `h;khl;ld;   2. Nkw;F Mg;gphpf;fh 
C. fhuG+ud;    3. kj;jpa Mrpah 
D. Y}     4. ,e;jpah kw;Wk; ghfp];jhd; 

A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 1 3 2 4 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
52. Correctly Match the interstate water dispute in India with their respective states 

given below: 
A. Yamuna River Water Dispute 1. Maharashtra, Karnataka, Andhra Pradesh 
B. Narmada River Water Dispute 2. Karnataka, Kerala, Tamil Nadu 
C. Krishna River Water Dispute 3. Madhya Pradesh, Maharashtra, Rajastan 
D. Kaveri River Water Dispute 4. Uttar Pradesh, Madhya Pradesh, Himachal       

Pradesh 
A B C D 

a. 3 4 2 1 
b. 4 3 1 2 
c. 4 1 2 3 
d. 3 1 4 2 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s khepyq;fs; ,ilNaahd ejp ePh; gpur;ridfis mjd; 
njhlh;Gila khepyq;fNshL rhpahf nghUj;Jf. 
A. aKdh ejp ePh; gpur;rid 1. kfhuh~;buh> fh;ehlfk;> Me;jpuh gpuNjrk; 
B. eh;kjh ejp ePh; gpur;rid  2. fh;ehlfk;> Nfush> jkpo;ehL 
C. fpU~;zh ejp ePh; gpur;rid 3. kj;jpa gpuNjrk;> kfhuh~;buh> ,uh[];jhd; 
D. fhtphp ejp ePh; gpur;rid 4. cj;jpu gpuNjrk;> kj;jpa gpuNjrk; `pkhry; 

gpuNjrk; 
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A B C D 
a. 3 4 2 1 
b. 4 3 1 2 
c. 4 1 2 3 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
53. Which of the following water falls forms from the river Pambar? 

a. Kumbakkarai falls b. Hogenakal falls  c. Monkey falls 
d. Killiyur falls  e. Answer not known 
gpd;tUtdtw;Ws; ve;j mUtp ghk;ghh; Mw;wpypUe;J cUthfp tUfpd;wJ? 
a. Fk;gf;fiu mUtp  b. XfNdf;fy; mUtp c. Fuq;F mUtp 
d. fps;spA+h; mUtp  e. tpil njhpatpy;iy 

 
54. Match the following:  

List I      List II 
A. Bassein oilfield   1. Gujarath Coast  
B. Digboi oilfield   2. Western Coast 
C. Ankleshwar oilfield   3. Eastern Coast 
D. Rawa oilfield   4. Brahmaputra valley 

A B C D  
a.  2          4         1         3 
b.  1          2         3         4 
c.  2          3         4         1 
d. 3          4         1         2 
e.   Answer not known  
gpd;tUtdtw;iw nghUj;jTk;: 
gl;bay; I     gl;bay; II 
A. ghrpd; vz;nza; tay;    1. F[uhj; flw;fiu 
B. jpf;gha; vz;nza; tay;     2. Nkw;F flw;fiu 
C. mq;fpNy~;th; vz;nza; tay;    3. fpof;F flw;fiu 

D. uth vz;nza; tay;    4. gpuk;kGj;jpuh gs;sj;jhf;F 
A B C D   

a.  2          4         1         3 
b.  1          2         3         4 
c.  2          3         4         1 
d. 3          4         1         2 
e.   tpil njhpatpy;iy 

 
55. Consider the following 

Assertion (A):Black soil getting their parent materials from the weathered rocks. 
Reason (R): The Black soils have a high water retaining capacity. 
a. (A) and (R) are correct and (R) is true explanation of (A) 
b. Both (A) and (R) are correct but (R) does not explain (A) 
c. Only (A) is correct, (R) is false 
d. Only (A) is false but (R) is true 
e. Answer not known 
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gpd;tUtdtw;iw Ma;f 
$w;W (A): fhpry; kz; mtw;wpd; Kyg;nghUl;fis thdpiyr; rpijTw;w 

ghiwfspypUe;J ngWfpwJ. 
$w;W (R): fhpry; kz;zpw;F mjpf ePiu jf;f itf;Fk; jpwd; cs;sJ. 
a. (A) kw;Wk; (R) rhpahdit kw;Wk; (R) vd;gJ (A) ,d; cz;ikahd tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; rhpahdit Mdhy; (R)> (A) it tpsf;ftpy;iy 
c. (A) kl;Lk; rhpahdJ (R) jtwhdJ 
d. (A) kl;LNk jtwhdJ Mdhy (R) rhpahdJ 
e. tpil njhpatpy;iy 

 
56. Match correctly the vegetation type and Average annual rainfall (in cm). 

Vegetation type  Average Annual rainfall (in cm) 
A. Evergreen forests 1. Above 200 cm. 
B. Monsoon forests  2. 100 – 200 cm. 
C. Dry forests  3. 50 – 100 cm. 
D. Desert forests  4. Below 50 cm. 

A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 4 3 2 
e. Answer not known 
jhtu tif kw;Wk; ruhrhp Mz;L kiog;nghopit (nr.kPl;lh;) rhpahfg; nghUj;Jf. 
jhtu tiffs;   ruhrhp Mz;L kiog;nghopT (nr.kP) 
A. gRik khwhf;fhLfs; 1. 200 nr.kPl;lUf;F Nky; 
B. gUtkiof; fhLfs; 2. 100 – 200 nr.kP 
C. twz;lf; fhLfs;  3. 50 – 100 nr.kP 
D. ghiytd fhLfs; 4. 50 nr.kPl;lUf;Fk; Fiwthf 

A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 

 

57. Which of the following is/are wrongly matched? 
A. Namdapha National Park - Arunachal Pradesh 
B. Keibul Lamjao National Park - Meghalaya 
C. Nokrek National Park  - Manipur 
D. Similipal National Park  - Odisha 
a. (A) and (D)  b. (B) and (C)   c. (D) only 
d. (A) only   e. Answer not known 
gpd;tUtdtw;wpy; vJ /vit jtwhfg; nghWj;jg;gl;Ls;sd? 
A. ek;jgh Njrpag; G+q;fh   - mUzhryg; gpuNjrk; 
B. Nfa;Gy; yk;N[h Njrpag; G+q;fh  - Nkfhyah 
C. Nehf;nuf; Njrpag; G+q;fh  - kzpg;G+h; 
D. rpkpypghy; Njrpag; G+q;fh  - xbrh 
a. (A) kw;Wk; (D)  b. (B) kw;Wk; (C)   c. (D) kl;Lk; 
d. (A) kl;Lk;   e. tpil njhpatpy;iy 
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58. Match the following. 
A. 6° Channel  1. Maldives and Minicoy islands. 
B. 8° Channel   2. Andaman and Nicobar islands. 
C. 9° Channel  3. Indira point and Indonesia. 
D. 10° Channel  4. Lakshadweep and Minicoy islands. 
 A B C D 
a. 2 3 1 4 
b. 4 3 2 1 
c. 3 4 1 2 
d. 3 1 4 2 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. 6˚ fhy;tha;  1. khyj;jPT kw;Wk; kpdpf;fha; jPTfs; 
B. 8˚ fhy;gha;   2. me;jkhd; kw;Wk; epNfhghh; jPTfs; 
C. 9˚ fhy;tha;   3. ,e;jpuh Kid kw;Wk; ,e;NjhNdrpah 
D. 10˚ fhy;tha;  4. yl;rj;;jPT kw;Wk; kpdpf;fha; jPTfs; 
 A B C D 
a. 2 3 1 4 
b. 4 3 2 1 
c. 3 4 1 2 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
59. Match the following. 

A. Bay   1. The deepest part of ocean 
B. Strait  2. A narrow stretch of water linking two large water bodies 
C. Trench  3. Land surrounded by water on three sides 
D. Peninsula  4. A broad inlet of sea where the land curves inwards. 
 A B C D 
a. 4 2 1 3 
b. 2 4 1 3 
c. 2 4 3 1 
d. 4 2 3 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. tisFlh  1. ngUq;flypd; Mokhd gFjp 
B. ePh;r;re;jp  2. ,uz;L nghpa ePh;g;gFjpfis ,izf;Fk; FWfpa ePh;g;gFjp 
C. mfop  3. %d;W gf;fk; ePuhy; #og;gl;l epyg;gFjp 
D. jPgfw;gk;  4. mfd;w epy tisitf; nfhz;l fly; gFjp 
 A B C D 
a. 4 2 1 3 
b. 2 4 1 3 
c. 2 4 3 1 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
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60. Match the following. 
A. P – waves   1. Transverse waves 
B. S – waves  2. Longitudinal waves 
C. L – waves  3. Surface waves 
 A B C 
a. 1 2 3 
b. 3 2 1 
c. 2 1 3 
d. 3 1 2 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf. 
A. P miyfs;  1. KwpT miyfs; 
B. S miyfs;  2. mOj;j miyfs; 
C. L miyfs;  3. Nkw;gug;G miyfs; 
 A B C 
a. 1 2 3 
b. 3 2 1 
c. 2 1 3 
d. 3 1 2 
e. tpil njhpatpy;iy 

 

61. Match the following 
A. Basalt   1. Anthracite 
B. Limestone   2. Extrusive igneous 
C. Coal   3. Metamorphic 
D. Gneiss   4. Sedimentary 
 A B C D 
a. 2 4 1 3 
b. 4 2 1 3 
c. 2 4 3 1  
d. 4 2 3 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf. 
A. grhy;l;   1. Me;j;uirl; 
B. Rz;zhk;Gg; ghiw  2. ntspg;Gw jPg;ghiw 
C. epyf;fhp   3. cUkhwpa ghiwfs; 
D. f;nda;];    4. gbTg; ghiwfs; 
 A B C D 
a. 2 4 1 3 
b. 4 2 1 3 
c. 2 4 3 1  
d. 4 2 3 1 
e. tpil njhpatpy;iy 

 

62. Choose correctly matched pair. 
1. Yellow revolution – oil seeds 
2. Brown revolution – leather 
3. Golden fibre revolution -jute 
4. Grey revolution – Fertilizers 
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Which of the above are correct? 
a. 1, 2   b. 1, 2, 3    c. 1, 2, 4 
d. All   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. kQ;rs; Gul;rp   - vz;nza; tpj;Jf;fs; 
2. gOg;Gg; Gul;rp   - Njhy; 
3. jq;f ,iog; Gul;rp  - rzy; 
4. rhk;gy; Gul;rp   - cuq;fs; 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2   b. 1, 2, 3    c. 1, 2, 4 
d. midj;Jk;  e. tpil njhpatpy;iy 

 
63. Choose correctly matched pair. 

1. Rawatbhatta – Rajasthan 
2. Kakrapara – Gujarat 
3. Kaiga – Karnataka 
4. Narora – Uttar Pradesh 
Which of the following are correct? 
a. 1, 2, 4   b. 1, 3, 4   c. 2, 3, 4 
d. All    e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. uhtj; gl;lh - uh[];jhd; 
2. fhf;fughuh  - F[uhj; 
3. iffh  - fh;ehlfh 
4. eNuhuh  - cj;jpu gpuNjrk; 
gpd;tUtdtw;Ws; rhpahdit vit 
a. 1, 2, 4   b. 1, 3, 4   c. 2, 3, 4 
d. midj;Jk;   e. tpil njhpatpy;iy 

 
64. Match the following  

A. Period of steady growth     1. 1951-1981 
B. Period of stagnant population    2. 1921 – 1951 
C. Period of rapid high growth    3. 1981 – 2011 
D. Period of high growth with signs of slowing down 4. 1901 – 1921 
 A B C D 
a. 4 2 3 1 
b. 2 4 1 3 
c. 4 2 1 3 
d. 2 4 3 1  e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. epiyahd tsh;r;rpf; fhyk;    1. 1951-1981 
B. Njf;f epiy fhyk;     2. 1921 – 1951 
C. mjpNtf tsh;r;rpf; fhyk;    3. 1981 – 2011 
D. mjpf tsh;r;rpapypUe;J tsh;r;rp 
Fd;wy; njd;gl Muk;gpj;j fhyk;    4. 1901 - 1921 
 A B C D 
a. 4 2 3 1 
b. 2 4 1 3 
c. 4 2 1 3 
d. 2 4 3 1  e. tpil njhpatpy;iy 
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65. Consider the following statements. 
1. The literacy rate in India is 74.04% 
2. The literacy rate of male is 65.46% 
3. The literacy rate of female is 82.14% 
4. Kerala ranks first in literacy rate. 
5. The lowest literacy rate is found in Bihar. 
Which of the following are correct? 
a.1, 2, 3, 4   b. 1, 2, 3, 5    c. 1, 4, 5 
d. 1, 2, 3, 4, 5   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f: 
1> ,e;jpahtpd; vOj;jwpT tpfpjk; 74.04% 
2> Mz;fspd; vOj;jwpT tpfpjk; 65.46% 
3> ngz;fspd; vOj;jwpT tpfpjk; 82.14% 
4> vOj;jwpT tpfpjj;jpy; Nfush Kjyplj;jpy; cs;sJ 
5> gPfhh; Fiwe;jgl;r vOj;jwpT tpfpjj;ijf; nfhz;Ls;sJ. 
Nkw;$wpatw;wpy; rhpahdit vit? 
a.1, 2, 3, 4   b. 1, 2, 3, 5    c. 1, 4, 5 
d. 1, 2, 3, 4, 5   e. tpil njhpatpy;iy 

 
66. Consider the following statements. 

1. Radio broading in India was started in 1923. 
2. It was named as All India Radio in 1936. 
3. It was renamed as Akashvani in 1957. 
Which of above are correct? 
a. 1, 2   b. 2, 3    c. 1, 3 
d. All   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f: 
1. ,e;jpahtpy; - thndhyp xypgug;G Nrit 1923 Mk; Mz;L njhlq;fg;gl;lJ. 
2. ,J 1936 Mk; Mz;L mfpy ,e;jpa thndhyp vd;W ngahplg;gl;Ls;sJ. 
3. 1957 y; “Mfhr thzp” vd;W ngah; khw;wk; nra;ag;gl;lJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 , 2   b. 2 , 3    c. 1, 3  
d. midj;Jk;  e. tpil njhpatpy;iy 

 
67. Exfoliation occurs commonly on the  

a. Arid areas   b. Semi-arid areas  c. Moist areas 
 d. Temperate areas  e. Answer not known 

gug;G tphpry; nghJthf ______ gFjpapy; Vw;gLfpwJ 
a. twz;l gFjp  b. miutwz;l gFjp c. <ug;gjkhd gFjp  
d. ntg;gkz;ly gFjp e. tpil njhpatpy;iy 

 
68. Which of the following is not correct? 

a. Gorge is a narrow and deep ruler valley which has steep slopes. 
b. Canyons – Extended form of gorges. 
c. The valley is formed in youthful stage of river erosion. 
d. Plunge pool is a depositional landform of river 
e. Answer not known 
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gpd;tUtdw;wpy; jtwhdJ vJ? 
a. kiyapLf;Ffs; vd;gJ FWfpa kw;Wk; Mokhd> FWfpa rhpTfisf; nfhz;l 

gs;sj;jhf;Ffs; MFk; 
b. kiyapLf;Ffspd; njhlh;r;rpNa nrq;Fj;Jg; gs;sj;jhf;Ffs; MFk; 
c. Mw;wpd; mhpj;jy; fhuzkhf ,sk; epiyapy; gs;sj;jhf;Ffs; cUthfpd;wd 
d. ePh; tPo;r;rpf;Fsk; vd;gJ Mw;wpd; gba itj;jy; epyj;Njhw;wj;jhy; cUthfpwJ. 
e. tpil njhpatpy;iy 

 
69. Choose correctly matched pair. 

i. Strait – connecting two larger landmasses 
ii. Isthmus – connecting two larger water bodies 
a. i only correct  b. ii only correct  c. Both are correct 
d. None    e. Answer not known  
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf. 
i. ePh;re;jp  - ,uz;L kpfg;nghpa epyg;gFjpfis ,izf;fpwJ. 
ii. epyre;jp  - ,uz;L ngUk; ePh;g;gFjpfis ,izf;fpwJ 
a. (i) kl;Lk; rhp  b. (ii) kl;Lk; rhp  c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy   

 
70. Consider the following statements. 

(i) Average depth of Indian Ocean is 3890m. 
(ii) Sunda deep (7450m) deepest part of the Indian ocean. 
(iii) Madagascar and Sri Lanka are prominent islands. 
(iv) Reunion island located on a Hotspot. 
Which of the following above are correct? 
a. i only   b. i, ii are correct  c. i, ii, iii are correct 
d. all are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
(i) ,e;jpag; ngUq;flypd; ruhrhp Mok; 3890 kPl;lh; 
(ii) Rz;lh gs;sk; (7450 kPl;lh;)> ,e;jpag; ngUq;flypd; Mokhd gFjpahFk;. 
(iii) klfh];fUk; ,yq;ifAk; Kf;fpaj; jPTfs; MFk;. 
(iv) hPAdpad; jPTfs; `hl; ];ghl;by; mike;Js;sJ. 
Nkw;$wpatw;wpy; rhpahdit vit? 
a. (i) kl;Lk;   b. (i)> (ii) rhp   c. (i)> (ii)> (iii) rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
71. Normal lapse rate is 

a. 6.5ºC per 1000m  b. 6.7ºC per 1000m  c. 6.8ºC per 1000m 
d. 6.4ºC per 1000m  e. Answer not known 
,ay;ghd ntg;gf; FiwT tpfpjk;>  
a. 1000 kPl;lUf;F 6.5ºC b. 1000 kPl;lUf;F 6.7C c. 1000 kPl;lUf;F 6.8C  

d. 1000 kPl;lUf;F 6.4C e. tpil njhpatpy;iy 
 

72. Which of the following minerals are found in veins and nodes? 
a. Bauxite  b. Coal and potash   c. copper and gold 
d. platinum  e. Answer not known 
gpd;tUtdtw;Ws; ,io tbt kw;Wk; Nyhl;]; gbTfshf fhzg;gLk; fdpkq;fs; 
vit? 
a. ghf;irl;  b epyf;fhp kw;Wk; nghl;lh~; c. nrk;G kw;Wk; jq;fk; 
d. gpshl;bdk;  e. tpil njhpatpy;iy 
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73. Consider the following statements  
(i) Kerala – 1st state to receive rainfall from South West Monsoon. 
(ii) Chinnakallar – Wettest place in world. 
(iii) Western disturbances happens during south west monsoon. 
Which of the following are correct? 
a. i only   b. i, ii    c. ii, iii 
d. all are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
(i) Nfush – njd;Nkw;Fg; gUtf;fhw;wpdhy; kio ngWk; Kjy; khepyk;. 
(ii) rpd;df;fy;yhh; - cyfpd; mjpf kiongWk; ,lk; 
(iii) Nkw;fj;jpa ,ilA+W fhw;Wfs; njd;Nkw;F gUtf;fhw;wpd; NghJ Vw;gLfpwJ. 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. (i) kl;Lk;   b. i, ii    c. ii, iii 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
74. Which among the following is used in cloud seeding? 

a. Solid CO2   b. CO    c. M2O 
d. So2    e. Answer not known 

gpd;tUtdtw;Ws; vJ Nkf tpijg;gpw;F gad;gLfpwJ? 
a. Solid CO2   b. CO    c. M2O 
d. SO2    e. tpil njhpatpy;iy 

 
75. Consider the following statements about Natural Gas 

1. Natural gas is the cheapest source of energy. 
2. It is considered as an environment friendly because of its low carbondioxide 

emissions. 
3. It is also known as green energy. 
4. Russia is the largest producer. 
Which of the above are correct? 
a. 1, 2, 4   b. 1, 2, 3   c. 2, 3, 4 
d. All    e. Answer not known 
,aw;if thA gw;wpa $w;Wfis Ma;f 
1. ,aw;if thA kpfTk; kypthd Mw;wy; %ykhFk;  
2. ,J Fiwthd fhpakpy thAit ntspapLtjhy; Rw;Wr; #oYf;F cfe;jjhf 
fUjg;gLfpwJ 
3. ,J gRik Mw;wy; vd;Wk; miof;fg;gLfpwJ 
4. ,u~;ah> ,jd; kpfg;nghpa cw;gj;jpahsuhFk; 
Nkw;$wpatw;wpy; rhpahdit vit? 
a. 1, 2, 4   b. 1, 2, 3   c. 2, 3, 4 
d. midj;Jk;   e. tpil njhpatpy;iy 

 
76. 20% of 25% of 20 is equal to  

a. 1  b. 10  c. 20  d. 25   e. Answer not known 
20 d; 25% -d; 20% d; kjpg;G  
a. 1  b. 10  c. 20  d. 25   e. tpil njhpatpy;iy 

 
77. 1100 boys and 700 girls are examined in a test. 42% of the boys and 30% of the girls 

pass find the % of the fail.  

a. 58%  b. 62 2
3

%  c. 64%  d. 78%  e. Answer not known 
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xU Njh;it 1100 khzth;fSk;> 700 khztpfSk; vOJfpd;wdh;. mth;fspy; 42% 
khzth;fSk; 30% khztpfSk; Njh;r;rp ngWfpd;wdh;. vdpy;> Njhy;tp mile;Njhhpd; 
rjtPjk; fhz;f.  

a. 58%  b. 62 2
3

%  c. 64%  d. 78%  e. tpil njhpatpy;iy 

  
78. The population of a village is 900. 15% of them are children, 40% of them are women. 

Then, the ratio of men: women : children is  
a. 9 : 7 : 4  b. 9 : 8 : 3   c. 7 :  9 : 4   
d. 8 : 9 : 3   e. Answer not known 
xU fpuhkj;jpy; cs;s nkhj;j kf;fs; njhif 900. mjpy; 15% Foe;ijfs;> 40% 
ngz;fs; vdpy; Mz;fs;> ngz;fs;> Foe;ijfspd; tpfpjk; vd;d?  
a. 9 : 7 : 4  b. 9 : 8 : 3   c. 7 :  9 : 4   
d. 8 : 9 : 3   e. tpil njhpatpy;iy 

  
79. The income of a person is increased by 10% and then decreased by 10%. Find the 

change in his income. 
a. 10%  b. 0%  c. 1%  d. 11%  e. Answer not known 
xU eghpd; tUkhdk; 10% mjpfhpf;fg;gl;L gpd; 10% Fiwf;fg;gLfpwJ vdpy; mthpd; 
tUkhdj;jpy; Vw;gl;l khw;wj;jpd; rjtPjk; vt;tsT?  
a. 10%  b. 0%  c. 1%  d. 11%  e. tpil njhpatpy;iy 

 
80. In an election between two candidates A and B, A received 60% of the total valid 

votes and won by 720 votes. If 10% of the total voters had not casted their votes and 
20% votes declared invalid, then what was the total number of voters?  
a. 4800 b. 5500 c. 6000  d. 5000 e. Answer not known 
Njh;jypy; cs;s ,U Ntl;ghsh;fs; KiwNa A, B; A vd;gth; nkhj;jk; gjpthd mjpy; 
nry;Ygbahd thf;Ffspy; 60% I A ngw;whh;. nkhj;jk; mth; 720 thf;Ffs; 
tpj;jpahrj;jpy; ntw;wp ngw;whh;. 10% thf;Ffs; gjpthftpy;iy. 20% thf;Ffs; 
nry;yhj thf;FfshFk;. vdpy;> nkhj;j thf;Ffspd; vz;zpf;if  
a. 4800 b. 5500 c. 6000  d. 5000 e. tpil njhpatpy;iy 

 
81. Which is the only Dravidian language written in Arabic script. 

a. Tulu   b. Brahui   c. Baduga 
d. Tamir   e. Answer not known 
mNugpa vOj;Jfspy; vOjg;gLk; xNu jpuhtpl nkhop 
a. JS   b. gpuhFap   c. gLfh 
d. jkph;   e. tpil njhpatpy;iy 

 
82. Sekrenyi is the main festival celebrated among 

a. Khasi   b. Angami   c. Bhutia 
d. Chenchu   e. Answer not known 
nrf;nud;ap vDk; Kf;fpa jpUtpoh ahuhy; nfhz;lhlg; gLfpwJ? 
a. fhrp   b. mq;fhkp   c. G+l;bah 
d. nrQ;R   e. tpil njhpatpy;iy 

 
83. Consider the following statements. 

1. Badagas belong to backward class and are not classified as tribal. 
2. They engaged in hunting and food gathering. 
3. They dwelling in higher plateau of Nilgiri. 
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Which of above are correct? 
a. 1, 2,    b. 1, 3    c. 2, 3 
d. 1, 2, 3   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. gLfh; ,dj;jth; gpd;jq;fpa tFg;igr; Nrh;e;jth;fs;> mth;fs; goq;Fbapdj;jtuhf 

tifg;gLj;jg;gltpy;iy 
2. mth;fs; Ntl;ilahLjy; kw;Wk; czT Nrfhpj;jypy; <LgLfpd;wdh; 
3. ,th;fs; ePyfphp cah; gPlG+kpapy; tho;fpd;wdh; 
Nkw;fz;ltw;Ws; rhpahdit vit 
a. 1, 2,    b. 1, 3    c. 2, 3 
d. 1, 2, 3   e. tpil njhpatpy;iy 

 
84. Remote sensing satellite are grouped under 

a. Geostationary satellite b. Sun – Synchronous satellite c. Spy satellite 
d. none of the above  e. Answer not known 
njhiy Ez;Zzh;T nraw;iff; Nfhs;fs; vjd;fPo; tifg;gLj;jg;gl;Ls;sd? 
a. Gtpepiy nraw;iff;Nfhs; b. #hpaepiy nraw;iff; Nfhs; 
c. csT nraw;iff; Nfhs;  d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 

 
85. United Nations conference on human environment held at 

a. Rio de Janerio – 1992  b. Montreal – 1985  c. Stockholm – 1972 
d. Johannesberg – 2002  e. Answer not known 
If;fpa ehLfspd; kdpjd; thOk; #oy; fUj;juq;F vq;F> vg;NghJ eilngw;wJ? 
a. hpNahb n[dPNuh – 1992  b. khz;l;hpay; - 1985 c. ];lhf;N`hk; - 1972 
d. N[h`d;d];gh;f; - 2002  e. tpil njhpatpy;iy 

 
 

86. Brundtland commission – which submitted report in 1987 as 
a. The future – we want   b. Our common future 
c. Sustainable development and future d. None of the above  
e. Answer not known 
g;uz;l;yz;l; Mizak; jkJ mwpf;ifia 1987 Mk; Mz;L rkh;g;gpj;j jiyg;G 
a. ehk; tpUk;Gk; vjph;fhyk;   b. ekJ nghJthd vjph;fhyk; 
c. Ngzj;jFe;j Nkk;ghLk; vjph;fhyKk; d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 

 
87. Which among the following types of rock is referred as Primary (or) Mother rocks? 

a. Igneous rocks  b. Sedimentary rocks  c. Gravity rocks  
d. Metamorphic rocks e. Answer not known  
gpd;tUk; ghiwfspy; Kjy;epiy my;yJ jha;ghiw vJ? 
a. jPg;ghiwfs;  b. gbTg;ghiwfs;    c. Gtp<h;g;G ghiwfs; 
d. cUkhwpa ghiwfs;  e. tpil njhpatpy;iy 

 

88. Which is Aeolian Process? 
a. The erosional, transportational and depositional activities of wind. 
b. The erosional, transportational and depositional process of glacier. 
c. The erosional, transportational and depositional process of river. 
d. All of the above. 
e. Answer not known 
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VNahypad; nray;ghL vd;gJ  
a. fhw;wpd; flj;jy;> mhpj;jy; kw;Wk; gbaitj;jy; nray;  
b. gdpg;ghiwapd; flj;jy;> mhpj;jy; kw;Wk; gbaitj;jy;  
c. MWfspd; flj;jy;> mhpj;jy; kw;Wk; gbaitj;jy; nray;  
d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 

 
89. Find the correct statement. 

1. Coriolise force is caused by rotation of the earth. 
2.Coriolise force is was discovered by G.G. Coriolise. 
a. 1 only   b. Both 1 and 2  c. 2 only  
d. None of the above e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
1. nfhhpahyp]; tpir Gtpapd; jw;Row;rpapdhy; cUthf;fg;gLfpwJ.  
2. nfhhpahyp]; tpiria fz;lwpe;jth; G.G nfhhpahyp];  
a. 1 kl;Lk;    b. ,uz;Lk;   c. 2 kl;Lk;  
d. vJTkpy;iy   e. tpil njhpatpy;iy 
 

90. Consider the following statements 
I) Deposition of Calcite forms pillars hanging down the roof is called stalactite 
II) Deposition of Calcite forming icicles growing upward from the cave floor is 

called as stalagmite. 
a. I alone is correct  b. II alone is correct   c. Both are correct  
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
I. fhy;irl; gbtq;fspd; gbT $iuapd; fPNo njhq;Fk; J}z;fs; fy;tpOJ vd;W 

miof;fg;gLfpwJ. 
II. fhy;irl; gbTfs; Fif jsj;jpypUe;J Nky; Nehf;fp tsu;tJ fy;Kis 

vdg;gLfpwJ. 
a. I kl;Lk; rup   b. II kl;Lk; rup   c. ,uz;Lk; rup

 d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

91. World’s famous fishing grounds are located in ____ 
a. Continental shelf   b. Continental slope  c. Continental rise  
d. Abyssal plain   e. Answer not known 
cyfpd; Gfo;ngw;w kPd;gpb jsq;fs; _____ y; mike;Js;sJ. 
a. fz;lj; jpl;L   b. fz;lr; rupT  c. fz;l cau;T  
d. flybr; rkntsp   e. tpil njhpatpy;iy 

 
92. Consider the following statements 

I. The highest high tide is known as spring tide. 
II. The lowest low tide is known as Neap tide. 
III. The highest high tide occurs on full moon day and new moon day. 
a. III alone is correct  b. I and II are correct  c. I and III are correct 
d. All are correct  e. Answer not known 
nfhLf;fg;gl;Ls;s thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. kpf caukhd Xjq;fs; kpjit Xjk; vdg;gLk;. 
II. kpfj; jho;thd Xjq;fs; jho;kl;l Xjq;fs; vdg;gLk;. 
III. caukhd Xjq;fs; KO epyT ehsd;Wk; mkhthir md;Wk; Vw;gLfpwJ. 
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a. III kl;Lk; rup  b. I kw;Wk; II rup   c. I kw;Wk; III rup  
d. midj;Jk; rup  e. tpil njhpatpy;iy 

 
93. Consider the following 

Assertion (A): The Sargasso Sea is called as sea with landless Border. 
Reason (R): Sargasso Sea is surrounded only by ocean currents. 
a. Both A and R are correct and R explains A 
b. Both A and R are correct and R does not explain A. 
c. A is correct, R is incorrect 
d. A is wrong, R is correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): jd;id Rw;wpYk; epyg;gFjpNa ,y;yhj xU fly; ru;Nfhrh flyhFk;. 
fhuzk; (R): ru;Nfhrh fly; midj;J gFjpfspYk; fly;ePNuhl;lq;fshy; 
#og;gl;Ls;sJ. 
a. A kw;Wk; R ,uz;Lk; rup> NkYk; R MdJ A I tpsf;FfpwJ. 
b. A kw;Wk; R ,uz;Lk; rup> NkYk; R MdJ A I tpsf;ftpy;iy 
c. A rup> R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
94. Ozone hole is formed in Antarctic Stratospheric layer due to the presence of ____ 

a. Polar Stratospheric Clouds b. Water vapour  c. Methane    
d. CO2     e. Answer not known 
XNrhd; Jisahy; mz;lhu;bf;fhtpd; XNrhd; mLf;F fLikahf ghjpf;fg;gLtjw;Ff; 
fhuzk; _____. 
a. Jut gilaLf;F Nkfq;fs;  b. ePuhtp   c. kPj;Njd;   
d. CO2     e. tpil njhpatpy;iy 

 
95. Consider the following statements regarding jet streams. 

I) It creates impact on intensity of Southwest monsoon rainfall. 
II) It helps in development of super cyclone. 
III) Brings rainfall to India by western disturbance 
IV) Helps in on set of North east Monsoon 
a. I, II are correct  b. II, IIII are correct   c. I, II, III are correct 
d. all are correct  e. Answer not known 
n[l; fhw;W njhlu;ghd gpd;tUk; thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. n[l; fhw;wpd; tUif njd; Nkw;F gUtf;fhw;W kioapd; jPtpuj;ijj; 

J}z;LfpwJ. 
II. mjpNtf #whtspapd; tsu;r;rpf;F cjTfpwJ. 
III. Nkw;fj;jpa ,ilA+W fhw;Wfshy; ,e;jpahtpw;F kioiaf; nfhz;L tUjy;. 
IV. tlfpof;F gUtkio njhlq;f cjTfpwJ. 
a. I, II rup   b. II, III rup    c. I, II, III rup   
d. midj;Jk; rup  e. tpil njhpatpy;iy 

 
96. Mosses and Lichens are naturally found in ____ Biome. 

a. Desert   b. Grassland    c. Taiga   
d. Tundra   e. Answer not known 
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ghrpfs; kw;Wk; kug;ghrpfs; ,aw;ifahf ___ capupdr; #o;thoplj;jpy; fhzg;gLfpwJ. 
a. ghiytdk;  b. Gy;ntsp    c. ilfh  
d. J}e;jpuk;   e. tpil njhpatpy;iy 

 
97. Which of the following is/are the coal mining centres of India? 

i) Korba  ii) Bokaro   iii) Ranikanch 
iv) Jaria   v) Singreni 
a. i, ii, iii, iv   b. i, iii, v   c. i, iv, v   
d. all the above  e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpahtpd; epyf;fup Ruq;fq;fs; vit? 
i. Nfhu;gh  ii. nghf;fhNuh   iii. uhzpfQ;r; 
iv. [hupah  v. rpq;fNudp 
a. i, ii, iii, iv   b. i, iii, v   c. i, iv, v   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
98. Consider the following statements: 

Assertion (A): The oil floats over water 
Reason (R): The density of oil is lighter than the water  
a. Both A and R are true and R is the correct explanation of A  
b. A is true but R is false  
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A  
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): ePupd;Nky; vz;nza; kpjf;fpd;wJ. 
fhuzk; (R):ePiutpl vz;nzapd; mlu;j;jpf; FiwT 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
99. Which is the most important source of nuclear energy? 

a. Radium   b. Plutonium   c. Uranium   
d. Thorium  e. Answer not known 
mZ Mw;wypd; Kf;fpa %ykhff; fUjg;gLtJ vJ? 
a. Nubak;  b. GSl;Nlhdpak;  c. ANudpak;   
d. Njhupak;  e. tpil njhpatpy;iy 

 
100. Which of the following statements about Noor complex is/are correct? 

i. Noor complex is the world’s largest concentrated solar power plant  
ii. It is located in Kalahari desert 
a. i, ii  b. i only c. ii only d. none  e. Answer not known 
gpd;tUk; $w;Wfspy; E}u;fhk;g;sf;]; Fwpj;J rupahdit vit? 
i. cyfpd; kpfg;ngupa mstpy; mlu;j;jpahd #upa Mw;wy; Miy. 
ii. ,J fhy`hup ghiytdj;jpy; mike;Js;sJ. 
a. i, ii  b. i kl;Lk; c. ii kl;Lk; d. VJkpy;iy  e. tpil njhpatpy;iy 
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101. Which of the following is/are geothermal provinces in India? 
i. Cambay    ii. Son-Narmada-Tapti (SONATA) 
iii. Cauvery and Vaigai  iv. Sohana  
a. i, ii    b. iii, iv   c. i, ii, iv   
d. all the above   e. Answer not known 
,e;jpahtpy; cs;s Gtp ntg;g Mw;wy; kz;lyq;fs; vit? 
i. fhk;Ng   ii. Nrhd;-eu;kjh-jgjp (SONATA) 
iii. fhtpup kw;Wk; itif iv. Nrh`hdh 
a. i, ii    b. iii, iv   c. i, ii, iv   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

102. Arrange the following in descending orders based on their contribution to world’s 
electricity generation 
i. Nuclear energy ii. Coal iii. Wind Energy  iv. Hydel Energy 
a. ii, iv, i, iii  b. ii, i, iv, iii    c. i, ii, iv, iii   
d. i, ii, iii, iv  e. Answer not known 
cyf kpd;rhu cw;gj;jpapy;> mjd; kpd; cw;gj;jp jpwdpd; gq;fspg;gpd; mbg;gilapy; 
,wq;F thpirapy; thpirg;gLj;Jf. 
i. mZ Mw;wy;  ii. epyf;fhp iii. fhw;W rf;jp  iv. ePh;kpd; rf;jp 
a. ii, iv, i, iii  b. ii, i, iv, iii    c. i, ii, iv, iii   
d. i, ii, iii, iv  e. tpil njhpatpy;iy 

 
103. Which of the following is/are correctly matched? 

Minerals   India’s Rank 
i) Copper   - 35th  
ii) Phosphate  - 20th  
iii) Coking coal - 4th  
a. i, ii and iii   b. i and ii    c. i and iii   
d. ii and iii   e. Answer not known 
gpd;tUtdtw;Ws; rhpahf nghUe;jpaJ vJ? 
fdpkq;fs;    ,e;jpahtpd; juk; 
i) jhkpuk;   - 35tJ 
ii) gh];Ngl;   - 20tJ 
iii) vhpf;Fk; epyf;fhp  - 4tJ 
a. i, ii kw;Wk; iii  b. i kw;Wk; ii   c. i kw;Wk; iii  
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
104. Choose the correct statements regarding Boundaries of Indian Subcontinent 

I. North   - Himalayas 
II. Northwest   - Hindukush and Sulaiman ranges 
III. Northeast   - Purvachal hills 
IV. South   - Indian Ocean 
a. I,II    b. II,III,IV   c. I,II,IV 
d. I,II, III,IV   e. Answer not known 
,e;jpa Jizf;fz;lk; gw;wp rupahfg; nghUe;jpa ,izfisj; Nju;T nra;f. 
I. tlf;F  - ,kakiy 
II. tlNkw;F - `pe;JF~; kw;Wk; Riykhd; kiyj;njhlh;fs; 
III. tlfpof;F - G+u;thQ;ry; Fd;Wfs; 
IV. njw;F  - ,e;jpag; ngUq;fly; 
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a. I,II    b. II,III,IV   c. I,II,IV 
d. I,II, III,IV   e. tpilnjhpatpy;iy 

 
105. The length of coastline of India’s mainland is ________ 

a. 6000 km    b. 6100 km   c. 7157 km 
d. 7517 km    e. Answer not known 
,e;jpa ngUk; epyg;gug;gpd; flw;fiu ePsk; 
a. 6000 fp.kP    b. 6100 fp.kP   c. 7157 fp.kP 
d. 7517 fp.kP    e. tpilnjhpatpy;iy 

 
106. Choose the correct statements. 

I. India is located in the north central part of the continent of Asia. 
II. Srilanka is separated from India by the Gulf of Mannar and Palkstrait. 
a. I only   b. II only   c. Both I and II 
d. Neither I nor II  e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
I. ,e;jpah Mrpa fz;lj;jpd; tl kj;jpa gFjpapy; mike;Js;sJ. 
II. kd;dhu; tisFlh kw;Wk; ghy;f; ePu;re;jp ,e;jpahtpypUe;J ,yq;ifiag; 

gpupf;fpwJ. 
a. I kl;Lk;     b. II kl;Lk;  c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II Mfpa ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
107. Which one of the following latitudinal extent is relevant for the extent of India’s 

area? 

a. 841’ N - 357N   b. 84 N- 356 ‘N  c. 82’ N -395’N  

d. 645’N – 376’N   e. Answer not known 
gpd;tUk; ml;rNuiffspy; ve;j xd;W ,e;jpahtpd; gug;gsitg; nghUj;J rhpahdJ? 
a. 841’t - 357t   b. 84 t- 356 ‘t  c. 82’ t -395’t  

d. 645’t – 376’t   e. tpilnjhpatpy;iy 
 

108. Which one of the following countries shares the longest land frontier with India? 
a. China    b. Bangladesh  c. Myanmar 
d. Bhutan    e. Answer not known 
gpd;tUk; ehLfspy; ,e;jpahTld; kpf ePz;l epy vy;iyiag; gfpu;e;J nfhs;Sk; ehL 
vJ? 
a. rPdh     b. tq;fhs Njrk;  c. kpahd;kh; 
d. G+l;lhd;    e. tpilnjhpatpy;iy 

 
109. Choose the correct Statements regarding Indian Standard Time”. 

I. 8230’E is fixed as Indian standard time 
II. The IST  is ahead of 5:30 hours to the Green which Meridian. 
III. It Crosses through Mirzapur in Allahabad. 
a. I only   b. II only   c. I,II 
d. I,II,III   e. Answer not known 
,e;jpa jpl;l Neuk; gw;wpa $w;Wfspy; rupahdtw;iwj; Nju;T nra;f. 
I. 8230’fp ,e;jpa jpl;l Neukhf epu;zapf;fg;gl;Ls;sJ. 
II. ,e;jpa jpl;l NeukhdJ fpuPd;tpr; ruhrhp Neuj;ij tpl 5 kzp 30 epkplk; 

Kd;djhf cs;sJ. 
III. ,J myfhghj;jpYs;s kpu;rhG+u; topNa nry;fpwJ. 
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a. I kl;Lk;   b. II kl;Lk;   c. I,II 
d. I,II,III   e. tpilnjhpatpy;iy 

 
110. Choose the correct statements. 

I. The Himalayas along with other Peninsular mountains are young, weak and 
flexible in their geological structure. 
II. The peninsular Block is rigid and stable. 
a. I only   b. II only   c. both I and II 
d. Neither I nor II  e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
I. gpw jPgfw;g kiyfSld; $ba ,kakiy Gtpapay; mikg;gpy; ,sikahd> 

tYtpoe;j nefpOk; jd;ik nfhz;lit. 
II. jPgfw;g gFjpahdJ fbdkhdJ kw;Wk; epiyahdit. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
111. Choose the incorrect statements. 

I. Northeastern Himalayas comprise a series of ranges such as the Karakoram, 
Ladakh, Laskar and Pirpanjal 

II. The Northeastern part of the Kashmir Himalayas is a cold desert, which lies 
between the Greater  Himalayas and the Karakoram ranges. 

a. I only    b. II only   c. Both I and II 
d. Neither I nor II.   e. Answer not known 
jtwhd $w;Wfisj; Nju;T nra;f. 
I. tlfpof;F ,kakiyfs; fhuNfhuk;> ylhf;> rh];fu; kw;Wk; gPu;gQ;ry; Nghd;w 

kiyj;njhlu;fis cs;slf;fpAs;sJ. 
II. fh~;kPu; ,kakiyapd; tlfpof;F gFjpapy; cs;s Fspu; ghiytdk; ngupa 

,kzkiyfs; kw;Wk; fhuNfhuk; kiyj;njhlh;fSf;fpilapy; mike;Js;sJ. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
112. Choose the correct statements about Karewas 

I. Karewas are the thick deposits of Glacial clay and other materials embedded 
with moraines. 

II. The Kashmir Himalayas are famous for Karewas formations.  Which are 
useful for the cultivation of Zafran, a local variety of Saffron. 

a. I only    b. II only   c. both I and II 
d. Neither I nor II   e. Answer not known 
fNuthf;fs; gw;wpa rupahd $w;Wfisj; Nju;T nra;f. 
I. fNuthf;fs; vd;git gdpg;ghiw fspkz; kw;Wk; nkhiud;fSld; gjpf;fg;gl;l 

gpw nghUl;fspd; mlu;j;jpahd Ftpay; MFk;. 
II. fh~;kPu; ,kakiyapYs;s fNuthf;fs; rh/g;uhd; vDk; cs;@h; Fq;Fkg;G+ 

rhFgbf;F gpugykhd gFjpahFk;. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 
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113. Match the following: 
A. Joshua    1. Pirpanjal 
B. Bansilal    2. Great Himalayas 
C. Photula    3. Zaskar 
D. Khardung La   4. Ladakh ranges 

A B C D 
a.  1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
A. N[hRth    1. gPu;gQ;ry; 
B. gdpyhy;    2. ngupa ,kakiyfs; 
C. Nghl;Lyh    3. [h];fu; 
D. fhu;Lq;yh    4. ylhf; kiyj;njhlh;fs; 

A B C D 
a.  1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpilnjhpatpy;iy 

 
114. Srinagar, the capital city of the Union territory of Jammu and Kashmir is located on 

the banks of ______ 
a. Ravi   b. Beas   c. Chenab 
d. Jhelum   e. Answer not known 
[k;K fh~;kPu; A+dpad; gpuNjrj;jpd; jiyefuhd =efu; ve;j ejpf;fiuapy; 
mike;Js;sJ? 
a. uhtp    b. gpah];   c. nrdhg;  
d. [Pyk;   e. tpilnjhpatpy;iy 

 
115. Choose the correct statements 

I. The Kali river is the tributary of Ghaghara  
II. The northernmost part of the Himachal Himalayas is an extension of the 

Ladakh cold desert. 
III. The lesser Himalayas is locally known as Dhavladhar in Himachal Pradesh 

and Nagtibha in Uttarakhand. 
a. I,II  b. I, III  c. II, III d. I,II,III e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
I. fhsp ejp fhf;uh ejpapd; JizejpahFk;. 
II. ,khr;ry ,kakiyapd; tlf;Fg;gFjp ylhf; Fspu; ghiytdj;jpd; 

njhlu;r;rpahFk;. 
III. rpwpa ,kakiyahdJ ,khr;ryg; gpuNjrj;jpy; njsyjhu; vd;Wk; 

cj;jufhz;by; ehf;jpgh vd;Wk; miof;fg;gLfpwJ. 
a. I,II  b. I, III  c. II, III d. I,II,III e. tpilnjhpatpy;iy 
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116. By selling a bicycle for ` 4,275, a shopkeeper loses 5% for how much should he sell 
it to have a profit of 5%? 
a. ` 4, 625 b. ` 4,725 c. ` 4,825 d. ` 4,925 e. Answer not known 
kpjptz;b xd;iw xU filf;fhuh; ` 4>275 f;F tpw;gjhy; mtUf;F 5% el;lk; 
Vw;gLfpwJ vdpy; 5% yhgk; ngw Ntz;Lnkdpy; mth; kpjptz;bia vd;d tpiyf;F 
tpw;f Ntz;Lk;? 
a. ` 4, 625 b. ` 4,725 c. ` 4,825 d. ` 4,925 e. tpil njhpatpy;iy 

 
117. A machine bought at Rs.50, 000 falls in its value by 8% of its value every year. Find 

the value of the machine after 2years.  
a. `40,000 b. `43,220 c. `42,000 d. ` 42,320 e. Answer not known 
& 50>000 kjpg;Gs;s xU ,ae;jpukhdJ mjd; tpiyapy; xt;nthU tUlKk; 8% 
FiwfpwJ vdpy; 2 tUlq;fSf;Fg;gpd; mjd; tpiy vd;d?  
a. `40,000 b. `43,220 c. `42,000 d. ` 42,320 e. tpil njhpatpy;iy  

 
118. 10% of 5 and 5% of 10 add upto  

a. 0.10   b. 0.25  c. 1.0  d. 2.5  e. Answer not known  
5-d; 10% kw;Wk; 10-d; 5% Mfpatw;wpd; $Ljy;  
a. 0.10   b. 0.25  c. 1.0  d. 2.5  e. tpil njhpatpy;iy  

 
119. Two numbers are respectively 10% and 25% more than a third number. The 

percentage of the first to the second is 
a. 65%  b. 75%  c. 80%  d. 88% e. Answer not known 
,uz;L vz;fs; %d;whk; vz;iztpl KiwNa 10% kw;Wk; 25% mjpfk; vdpy; Kjy; 
vz;zhdJ ,uz;lhk; vz;zpd; _______ rjtPjk; MFk;. 
a. 65%  b. 75%  c. 80%  d. 88%  e. tpil njhpatpy;iy 

 
120. An alloy contains 10 gm copper, 20 gm tin and 20 gm silver. What is the percentage 

of copper in the alloy? 
a. 20%  b. 25%  c. 30%  d. 11%  e. Answer not known 
xU cNyhf fyitapy; 10 fpuhk; nrk;G 20 fpuhk; nts;sPak; kw;Wk; 20 fpuhk; nts;sp 
cs;sJ vdpy; cNyhf fyitapy; cs;s nrk;gpd; rjtPjk; vd;d? 
a. 20%  b. 25%  c. 30%  d. 11%  e. tpil njhpatpy;iy 

 
121. Choose the correct statement/s 

I. Dehradun is the largest of all the duns 
II. In the Great Himalayan range, the Valleys are mostly inhabited by the 

Bhotias. 
III. The famous ‘Valley of flowers’ are situated in Western Himalayas. 
a. I, II  b. I, III  c. II, III d. I, II, III e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
I. ^d;fspy; kpfg;nghpaJ Nluh^d;. 
II. ngupa ,kakiyj; njhlupd; gs;sj;jhf;Ffspy; ngUk;ghYk; Nghbau;fs; 

tho;fpd;wdu;. 
III. G+f;fspd; gs;sj;jhf;F vd;w Gfo;ngw;w gFjp Nkw;F ,kakiyapy; 

mike;Js;sJ. 
a. I, II  b. I, III  c. II, III d. I, II, III e. tpilnjhpatpy;iy 
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122. Choose the correct statements regarding Sikkim Himalayas 
I. Tista river flows through Sikkim 
II. Kanchenjunga Peak is situated here. 
III. The higher reaches of this region are inhabited by Lepchatribes 
a. I,II  b. I, III  c. II,III  d. I,II,III e. Answer not known 
rpf;fpk; ,kakiyfs; gw;wpa rupahd $w;Wfisj; Nju;T nra;f. 
I. b];lh ejp rpf;Fk; topNa gha;fpd;wJ. 
II. fQ;rd;[q;fh rpfuk; ,q;F mike;Js;sJ. 
III. ,g;gFjpapd; caukhd gFjpfspy; nyg;rh vDk; goq;Fbapdu; tho;fpd;wdu;. 
a. I,II  b. I, III  c. II,III  d. I,II,III e. tpilnjhpatpy;iy 

 
123. Choose the correct statements regarding the Arunachal Himalayas 

I. An important aspect of the Arunachal Himalayas is the numerous ethnic 
tribal community inhabiting in these areas. 

II. This region is rich in Biodiversity which has been preserved by the 
indigenous communities. 

a. I only   b. II only   c. Both I and II 
d. Neither I nor II  e. Answer not known 
mUzhr;ry ,kakiyfs; gw;wpa rupahd $w;Wfisj; Nju;T nra;f. 
I. mUzhr;ry ,kakiyapd; Kf;fpa mk;rk; ,e;jg;gFjpapy; thOk; Vuhskhd 

goq;Fbapd rKjha kf;fs; MFk;. 
II. ,g;gFjpapd; gy;Yaph; tsk; epiwe;j gFjp ,q;Fs;s goq;Fbapdu;fshy; 

ghJfhf;fg;gLfpd;wJ. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
124. Which of the following statement/s is/are correct? 

I. The Barak is an important river in Manipur and Mizoram 
II. The physiography of Manipur is unique is unique by the presence of a large 

lake known as ‘Loktak’ lake at the centre. Surrounded by mountains from all 
sides. 

a. I only    b. II only   c. Both I and II 
d. Neither I nor II   e. Answer not known 
gpd;tUtdtw;Ws; rupahd $w;Wfs; vit? 
I. guf; ejp kzpg;G+u; kw;Wk; kpNrhuk; Nghd;w khepyq;fSf;F Kf;fpa ejpahFk;. 
II. kzpg;G+upd; ,aw;if mikg;G jdpj;Jtk; tha;e;jJ mjd; ikag;gFjpapy; 

midj;J gf;fq;fspYk; kiyfshy; #og;gl;l Nyhf;lhf; Vup mike;Js;sJ. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
125. Consider the following 

Assertion (A):  Mizoram is also known as the Molassis basin 
Reason (R)   : It is made up of soft unconsolidated deposits 
a. Both A and R are correct and R is correct explanation of A. 
b. A and R are correct and R does not explain A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
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gpd;tUtdtw;iw Muha;f. 
$w;W (A): kpNrhuk; nkhyhr]; gLif vd;Wk; miof;fg;gLfpwJ. 
fhuzk; (R): ,J nkd;ikahd xUq;fpizf;fg;glhj gbTfshy; MdJ. 
a. A> R ,uz;Lk; rhp> R MdJ A d; rhpahd tpsf;fkhFk; 
b. A> R ,uz;Lk; rhp> R MdJ A d; rhpahd tpsf;fky;y 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpilnjhpatpy;iy 

 
126. Which of the following statements are correct regarding the Northern Plains? 

I. These are formed by the alluvial deposits brought by the rivers, the Indus, 
Ganga and Brahmaputra. 

II. These plains extend approximately 3,200 km from the east to the west. 
a. I,II    b. I only    c. II only  
d. None   e. Answer not known 
gpd;tUtdtw;Ws; tlf;Fr; rkntspfs; gw;wpa rupahd $w;Wfisj; Nju;T nra;f. 
I. ,g;gFjp rpe;J> fq;if kw;Wk; gpuk;kGj;Juh Nghd;w ejpfshy; nfhz;Ltug;gLk; 

tz;ly; gbTfshy; MdJ. 
II. ,r;rkntspfs; fpof;fpypUe;J Nkw;fhf 3200 fp.kP njhiytpw;Fg; gutpAs;sJ. 
a. I,II    b. I kl;Lk;    c. II kl;Lk; 
d. Nkw;$wpa vJTkpy;iy e. tpilnjhpatpy;iy 

 
127. How many pairs are correctly matched? 

1. Bhabhar Plains  - Rich in gravels and unassorted sediments 
2. Tarai tract   - Zone of excessive dampness  
3. Bhangar Plains  - Newer alluvial deposits 
4. khadar plains  -Older Alluvial deposits 
a. 1 pair    b. 2 pairs   c. 3 pairs 
d. 4 pairs    e. Answer not known 
rupahfg; nghUe;jpa ,izfs; vj;jid? 
1. ghgu; rkntsp - fw;fs; kw;Wk; tifg;gLj;jg;glhj tz;ly; gFjp 
2. juha; rkntsp - mjpfg;gbahd <ug;gjk; cila gFjp 
3. ghq;fu; rkntsp - Gjpa tz;ly; gbTfs; 
4. fhju; rkntsp - gioa tz;ly; gbTfs; 
a. 1 ,iz    b. 2 ,izfs;  c. 3 ,izfs; 
d. 4 ,izfs;   e. tpilnjhpatpy;iy  

 
128. Which of the following statements are correct? 

I. The Brahmaputra plains are known for their riverine Islands and Sandbars. 
II. The states of Haryana and Delhi form a water divide between the Indus and 

the Ganga river systems. 
a. I only   b. II only   c. both I and II 
d. Neither I nor II  e. Answer not known 
gpd;tUtdtw;wpy; rupahd $w;Wfs; vit? 
I. gpuk;kGj;jpuh rkntspfs; Mw;Wj;jPTfs; kw;Wk; kzy;gug;GfSf;Fk; ngau; 

ngw;wit. 
II. `upahdh kw;Wk; nly;yp khepyq;fs; rpe;J kw;Wk; fq;if ejp mikg;GfSf;F 

,ilNa ePh; gpupit cUthf;Ffpd;wd. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy e. tpilnjhpatpy;iy 
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129. How many pairs are correctly regarding the boundaries of the peninsular plateau? 
I. Northwest   - Delhi ridge 
II. East   - Rajmahal hills. 
III. West   - Gir range 
IV. South   -  Cardamom hills. 
a. 1 pair   b. 2 pairs   c. 3 pairs 
d. 4 pairs   e. Answer not known 
jPgfw;g gPlG+kpapd; vy;iyfs; njhlu;ghd ,izfspy; rupahdit vj;jid? 
I. tlNkw;F  - nly;yp Fd;W 
II. fpof;F  - uh[;kfhy; Fd;Wfs; 
III. Nkw;F  - fpu; njhlu;fs; 
IV. njw;F  - Vyf;fha; Fd;Wfs; 
a. Xh; ,iz   b. 2 ,izfs;  c. 3 ,izfs; 
d. 4 ,izfs;  e. tpilnjhpatpy;iy 

 
130. Choose the correct statements regarding the peninsular plateau. 

I. The Peninsular Plateau is in the irregular triangular form. 
II. This is one of the oldest and the most stable landmass of India. 
III. The general elevation of the plateau is from the east to West. 
a. I,II     b. I,III    c. II,III 
d. All the above   e. Answer not known 
jPgfw;g gPlG+kp gw;wp rupahd $w;Wfisj; Nju;T nra;f. 
I. jPgfw;g gPlG+kpahdJ xOq;fw;w Kf;Nfhz tbtk; nfhz;lJ. 
II. ,J ,e;jpahtpd; goikahd kw;Wk; epiyahd epyg;gug;Gfspy; xd;whFk;. 
III. gPlG+kpapd; nghJthd Kfg;G fpof;fpypUe;J Nkw;Nehf;fp cs;sJ. 
a. I,II     b. I,III    c. II,III 
d. Nkw;$wpa midj;Jk;  e. tpilnjhpatpy;iy 

 
131. How many pairs are correctly matched regarding the boundaries of Deccan plateau? 

I. West  - Western Ghats 
II. East  - Eastern Ghats 
III. North   - Satpura, Maikal range and Mahadeo hills 
a. 1 pair    b. 2 pairs   c. 3 pairs 
d. None of the above  e. Answer not known 
jf;fhz gPlg+kpapd; vy;iyfisg; nghUj;J rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. Nkw;F  - Nkw;F njhlh;r;rp kiyfs; 
II. fpof;F  - fpof;F njhlh;r;rp kiyfs; 
III. tlf;F - rhj;Guh> ikf;fhy; kiyj;njhlh;> kfhjpNah Fd;Wfs; 
a. 1 ,iz    b. ,U ,izfs;  c. %d;W ,izfs; 
d. Nkw;$wpa VJkpy;iy  e. tpil njhpatpy;iy 

 
132. Which of the following statements are correct about Deccan Plateau? 

I. Deccan plateau is a triangular landmass. 
II. It lies to the North of the river Narmada. 
III. It covers most of the South Indian States. 
a. I,II     b. I,III    c. II, III 
d. All the above   e. Answer not known 

  



 

35 | Page  044-24339436, 42867555, 9840226187 
 

jf;fhz gPlg+kp gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. jf;fhz gPlg+kp xU Kf;Nfhz tbt epyj;Njhw;wkhFk; 
II. ,J eh;kij ejpapd; tlf;Nf mike;Js;sJ 
III. ,J ngUk;ghYk; njd;dpe;jpa khepyq;fspy; gutpAs;sJ 
a. I, II     b. I, III    c. II, III 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
133. Choose the correct statements regarding Deccan plateau 

I. It is higher in the West and slopes gently eastwards 
II. An extension of the plateau is visible in the northeast. 
III. An extensive area of the north west of the plateau is covered by the black 

coloured basalt 
a. I,II     b. I,III    c. II, III 
d. All the above   e. Answer not known 
jf;fhzg;gPlG+kp gw;wpa rupahd $w;Wfisj; Njh;T nra;f. 
I. ,J Nkw;fpy; caukhfTk; kw;Wk; fpof;F Nehf;fp rha;thfTk; mike;Js;sJ. 
II. ,g;gPlG+kpapd; tpupthf;fk; tlfpof;Fg; gFjpapy; Gyg;gLfpd;wd. 
III. gPlG+kpapd; tlNkw;F gFjpapd; ngUk;gFjp fUg;Gepw grhy;l; %yk; 

#og;gl;Ls;sJ. 
a. I,II     b. I,III    c. II, III 
d. Nkw;fz;l midj;Jk;  e. tpilnjhpatpy;iy 

 
134. Choose the correct statements. 

I. Western Ghats are comparatively higher in elevation and more continuous than 
the Eastern Ghats. 
II. Anaimudi with 2695 m, the highest peak of Peninsular plateau is located in the 
Anaimalai hills of the Western Ghats. 
III. Most of the Peninsular rivers have their Origin in the Western Ghats 
a. I,II    b. I,III    c. II,III 
d. I,II,III    e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
I. Nkw;Fj;njhlu;r;rp kiyfs; fpof;F njhlu;r;rp kiyfSld; xg;gpLk;NghJ 

caukhdit kw;Wk; kpfTk; njhlu;r;rpahdit. 
II. jPgfw;g gPlG+kpapd; kpf caukhd rpfukhd 2695 kP cauk; 
III. jPgfw;g MWfs; ngUk;ghYk; Nkw;Fnjhlh;r;rp kiyj;njhlhpy; Njhd;Wfpd;wd. 
a. I,II    b. I,III    c. II,III 
d. I,II,III   e. tpilnjhpatpy;iy 

 
135. Which of the following statements are correct? 

I. Eastern Ghats comprising the discontinuous and low hills are highly eroded by 
the rivers such as the Mahanadi, Godavari Krishna and Kaveri 
II. The Eastern and Western Ghats meets each other at the Nilgiri hills.  
a. I only    b. II only   c. both I and II 
d. Neither I nor II   e. Answer not known 
gpd;tUtdtw;Ws; rupahd $w;Wfs; vit? 
I. fpof;Fj; njhlu;r;rp kiyfspy; kfhejp> fpU~;zh kw;Wk; fhNtup ejpfshy; 

mupf;fg;gl;l njhlu;r;rpaw;w kw;Wk; jho;thd Fd;Wfs; fhzg;gLfpd;wd. 
II. fpof;F kw;Wk; Nkw;Fj;njhlh;r;rp kiyj;njhlh;fs; ,uz;Lk; ePyfpupapy; 

re;jpf;fpd;wd. 
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a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
136. Which of the following statements are correct? 

I. The Central Highlands slopes towards the north and northeastern directions. 
II. Most of the tributaries of the river Yamuna have their Origin in the Vindhyan and 
Kaimur ranges 
a. I only    b. II only   c. Both I and II 
d. Neither I  nor II   e. Answer not known 
gpd;tUtdtw;wpy; rupahd $w;Wfs; vit? 
I. kj;jpa cau;epyq;fs; tlf;F kw;Wk; tlfpof;F jpirfis Nehf;fp rha;e;Js;sJ. 
II. aKid ejpapd; ngUk;ghyhd Jizejpfs; tpe;jpa kw;Wk; if%h; 

kiynjhlu;fspy; Njhd;Wfpd;wd. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
 

137. The Karbi Anglong Hills are located in the state of ________ 
a. Manipur    b. Meghalaya   c. Nagaland 
d. Assam   e. Answer not known 
fhu;gp Mq;f;yhq; Fd;Wfs; mike;Js;s khepyk; 
a. kzpg;G+u;   b. Nkfhyah   c. ehfhyhe;J 
d. m];]hk;   e. tpilnjhpatpy;iy 

 
138. Choose the correct statement/s about the Indian Desert.  

I. Great Indian Desert lies in the northwest of the Aravalli Hills. 
II. It is a land of undulating topography dotted with longitudinal dunes and 
barchans. 
III. The Actual desert region is also known as Marusthali 
a. I, II     b. I,III    c. II,III 
d. All the above   e. Answer not known 
ngupa ,e;jpag; ghiytdk; gw;wpa rupahd $w;Wfisj; Nju;Tnra;f. 
I. ngupa ,e;jpag; ghiytdk; Muty;yp Fd;Wfspd; tlNkw;fpy; mike;Js;sJ. 
II. ,J ePskhd Fd;Wfs; kw;Wk; ghu;r;rd;fs; nfhz;l epyg;gug;ghFk;. 
III. cz;ikahd ghiytdg; gFjp kU];jyp vd;W miof;fg;gLfpd;wJ. 
a. I, II     b. I,III    c. II,III 
d. Nkw;$wpa midj;Jk;  e. tpilnjhpatpy;iy 

 
139. Choose the correct statements regarding the Great Indian Desert. 

I. The Luni river flowing in the northern part of the Great Indian Desert. 
II. Low Precipitation and high evaporation makes it a water deficit region. 
a. I only   b. II only   c. Both I and II 
d. Neither I nor II  e. Answer not known 
ngupa ,e;jpa ghiytdk; gw;wpa rupahd $w;Wfisj; Njh;T nra;f. 
I. Y}dp ejp ngupa ,e;jpag; ghiytdj;jpd; tlf;Fg; gFjpapy; gha;fpwJ. 
II. Fiwe;j kiog;nghopT kw;Wk; mjpf Mtpahjy; Nghd;wtw;why; ,g;gFjp 

ePu;gw;whf;Fiw gFjpahff; fhzg;gLfpd;wJ. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II Mfpa ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy e. tpilnjhpatpy;iy 
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140. Choose the natural ports located along the West coast: 
1. Kandla    2. Jawaharlal Nehru Port 
3. Mormugao    4. Mangalore  
5. Cochin     
a. 1,2,3    b. 2,3,4   c. 2,3,4,5 
d. 1,2,3,4,5    e. Answer not known 
Nkw;F flw;fiuapy; mike;Js;s ,aw;ifj; JiwKfq;fis Nju;T nra;f. 
1. fhz;l;yh   2. [t`h;yhy; NeU JiwKfk; 3. ku;kNfhth   
4. kq;f@u;   5. nfhr;rpd; 
a. 1,2,3    b. 2,3,4   c. 2,3,4,5 
d. 1,2,3,4,5    e. tpilnjhpatpy;iy 

 
141. Choose the correct statements regarding the Western coastal plains 

I. These are an example of submerged coastal plain 
II. The Western coastal plains are narrow in the middle and get broader towards the 
north and South 
III. The rivers flowing through this coastal plain do not form any delta. 
a. I,II  b. I, III  c. II, III d. I, II, III  e. Answer not known 
Nkw;Ff; flw;fiur; rkntspfs; gw;wpa rupahd $w;Wfisj; Nju;Tnra;f. 
I. ,it ePupy; %o;fpa flNyhu rkntspf;F vLj;Jf;fhl;lhFk;. 
II. Nkw;Ff; flw;fiur; rkntspfs; eLtpy; FWfpajhfTk;> tlf;F kw;Wk; 

njw;Fg;gFjpapy; mfykhfTk; mike;Js;sJ. 
III. ,e;jf; flw;fiu rkntspapy; ghAk; ejpfs; nly;lhit cUthf;Ftjpy;iy. 
a. I,II  b. I, III  c. II, III d. I, II, III  e. tpilnjhpatpy;iy 

 

142. Arrange the following major ports in the order of South to North 
I. Kandla    II. Mumbai Port 
III. Marma Goa   IV. Nhava Seva 
V. Cochin    VI. Mangalore 
a. VI, V, III, IV, II, I   b. V, VI, III, IV, II,I  c. V, VI, IV, III, II, I  
d. VI, V, IV, III, II, I   e. Answer not known 
gpd;tUk; ngupa JiwKfq;fis njw;fpypUe;J tlf;fhf tupirg;gLj;jTk;. 
I. fhz;l;yh    II. Kk;igj; JiwKfk; 
III. ku;kNfhth   IV. etNrth 
V. nfhr;rpd;    VI. kq;f@u; 
a. VI, V, III, IV, II, I   b. V, VI, III, IV, II,I  c. V, VI, IV, III, II, I  
d. VI, V, IV, III, II, I   e. tpilnjhpatpy;iy 

 

143. Arrange the following major ports in the order South to North 
I. Haldia   II. Kolkata   III. Vishakhapatnam 
IV. Paradeep   V. Chennai   VI. Ennore 
VII. Tuticorin   
a. VII, VI, V, III, IV, II, I b. VII, V,VI, III, IV, I, II c. VII, VI, V, III, IV, I, II 
d. VII, VI, III, V, I, IV,II e. Answer not known 
gpd;tUk; ngupa JiwKfq;fis njw;fpypUe;J tlf;fhf tupirg;gLj;jTk; 
I. `hy;bah   II fy;fj;jh   III. tprhfg;gl;bdk; 
IV. ghujPg;   V. nrd;id   VI. vz;Z}h; 
VII. J}j;Jf;Fb 
a. VII, VI, V, III, IV, II, I b. VII, V,VI, III, IV, I, II c. VII, VI, V, III, IV, I, II 
d. VII, VI, III, V, I, IV,II e. tpilnjhpatpy;iy 
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144. Choose the correct statements regarding Kayals. 
I. The backwaters in the Malabar coast known as Kayals which are used for 

fishing, Inland navigation 
II. Every year the famous Nehru Trophy Vallamkali Boat race is held in 

Punnamadu Kayal in Kerala.  
a. I only    b. II only   c. Both I and II 
d. Neither I nor II   e. Answer not known  
fhay;fs; gw;wpa rupahd $w;Wfisj; Nju;T nra;f. 
I. kyghu; flw;fiuapy; fhzg;gLk; fhay;fs; kPd;gpbj;jy; kw;Wk; cs;ehl;L ePu;topg; 

Nghf;Ftuj;jpw;Fg; gad;gLfpd;wd. 
II. NfushtpYs;s Gd;dkL fhaypy; Mz;LNjhWk; NeUNfhg;igf;fhd ty;yk;fhsp 

glFg;Nghl;b eilngWk;. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
145. Choose the correct statements about the Eastern Coastal plain. 

I. As compared to the Western Coastal plain, the eastern coastal plain is broader. 
II. There are well developed deltas here, formed by the rivers flowing eastward into 
the Bay of Bengal. 
a. I only    b. II only   c. Both I and II 
d. Neiter I nor II   e. Answer not known 
fpof;F flw;fiu rkntspfs; gw;wpa rhpahd $w;Wfisj; Nju;T nra;f. 
I. Nkw;F flw;fiur; rkntspAld; xg;gpLifapy; fpof;F flw;fiur; rkntspfs; 

mfd;wit. 
II. fpof;F Nehf;fp tq;fhs tpupFlhtpy; ghAk; MWfshy; cUthf;fg;gl;l ed;F 

mike;j nly;lhf;fs; ,q;F cs;sd. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
146. Consider the following: 

Assertion (A): The development of good ports and harbours are difficult in the 
eastern coastal place. 
Reason (R): The continental shelf extends upto 500 km into the sea 
a. Both A and R are correct and R is correct explanation. 
b. A and R are correct and R does not explain A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known  
gpd;tUtdtw;iw Muha;f. 
$w;W (A): fpof;F flw;fiu gFjpapy; ey;y JiwKfq;fis fl;likg;gJ fbdk;. 
fhuzk; (R): ,q;F fz;lj;jpl;L flYf;Fs; 500 fp.kP tiu ePz;Ls;sJ. 
a. A> R ,uz;Lk; rhp> R MdJ A d; rhpahd tpsf;fkhFk; 
b. A> R ,uz;Lk; rhp> R MdJ A d; rhpahd tpsf;fky;y 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpilnjhpatpy;iy 

 
147. How many Islands present in the Bay of Bengal island groups? 

a. 32  b. 527  c. 572  d. 752  e. Answer not known  
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tq;fhs tpupFlh jPTf; FOkj;jpy; vj;jid jPTfs; cs;sd? 
a. 32  b. 527  c. 572  d. 752  e. tpilnjhpatpy;iy  

 
148. Which of the following Statements are correct? 

I. Andaman and Nicobar are separated by a waterbody which is called the 10 
channel. 
II. Barren Island, the only active volcano in India is situated in the Nicobar Islands. 
a. I only    b. II only   c. Both I and II 
d. Neither I nor II   e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
I. me;jkhd; kw;Wk; epf;Nfhghh; 10 vDk; ml;rf;Nfhbdhy; gphpf;fg;gLfpd;wd. 
II. epf;Nfhghupd; ghud; jPT ,e;jpahtpd; xNu nray;gLk; vhpkiyahFk;. 
a. I kl;Lk;    b. II kl;Lk;  c. I kw;Wk; II Mfpa ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
149. Choose the correctly matched pairs 

I. Saddle Peak - North Andaman 
II. Mount Diarolo - South Andaman 
III. Mount Koyob - Middle Andaman 
IV. Mount thriller - Great Nicobar 
a. I,II,III   b. III, IV    c. I,IV 
d. I,II, III,IV   e. Answer not known 
rupahfg; nghUe;Jk; ,izfisj; Njh;T nra;f. 
I. Nrly; rpfuk;  - tlf;F me;jkhd; 
II. ilaNuhNyh kiy - njw;F me;jkhd; 
III. NfhNahg; kiy  - eL me;jkhd; 
IV. j;upy;yu; kiy  - ngupa epf;Nfhghh; 
a. I,II,III   b. III, IV    c. I,IV 
d. I,II, III,IV   e. tpilnjhpatpy;iy 

 
150. The Dodabeta peak is situated in  

a. Anaimalai Hills   b. Nilgiri Hills  c. Cardamom Hills 
d. Nallamalai Hills.   e. Answer not known 
njhl;lngl;lh rpfuk; mike;Js;s Fd;Wfs; ____.  
a. Midkiy Fd;Wfs;  b. ePyfphp Fd;Wfs;  c. Vyf;fha; Fd;Wfs; 
d. ey;ykiy Fd;Wfs;  e. tpilnjhpatpy;iy 

 
151. Which of the following river is rise from the Eastern Ghats? 

1. Brahmani  2. Nagavali  3. Subarnareka 4. Vamsadhara 
a. 1, 2  b. 2, 4  c. 3, 4  d. 1, 3  e. Answer not known 
gpd;tUk; ejpfspy; fpof;F njhlu;r;rp kiyapypUe;J Njhd;Wk; ejp vJ/vit? 
1. gpuhkzp  2. ehfhtyp  3. Rgu;zNufh  4. tk;rjhuh 
a. 1, 2  b. 2, 4  c. 3, 4  d. 1, 3  e. tpil njhpatpy;iy 

 
152. Which of the following statements is/are correct regarding water on the earth? 

1. The amount of water on the earth lakes is more than the amount of groundwater. 
2. The amount of water in polar ice caps and glaciers is more than the amount of 

groundwater. 
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a. 1 only   b. 2 only   c. Both 1 and 2 
d. None   e. Answer not known 
G+kpapYs;s jpiug; gw;wpa rupahd $w;Wfisj; Nju;T nra;f. 
1. MWfs; kw;Wk; VupfspYs;s ePupd; msT epyj;jb ePupd; msit tpl mjpfkhf 

cs;sJ. 
2. Jut gdpf;fl;bfs; kw;Wk; gdpg;ghiwfspy; cs;s ePupd; msT epyj;jb ePupd; 

msit tpl mjpfkhf cs;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 Mfpa ,uz;Lk; 
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
153. Choose the correct statements. 

i) In the tropical zone, the western sections of the oceans are warmer than the 
eastern sections owing to the influence of trade winds. 

ii) In the temperate zone, westerlies make the eastern sections of oceans warmer 
than the Western sections. 

a. i only   b. ii only   c. Both 
d. None   e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
i) ntg;gkz;ly gFjpapy; tpahghuf; fhw;wpd; jhf;fj;jpdhy; fly;fspd; Nkw;Fg; 

gFjpfs; fpof;Fg; gFjpfistpl ntg;gkhf ,Uf;Fk;. 
ii) kpjntg;g kz;lyj;jpy; Nkw;Ff; fhw;Wfs; fly;fspd; fpof;Fg; gFjpfis 

Nkw;Fg;gFjpfistpl mjpf ntg;gkhf;Ffpd;wd. 
a. i kl;Lk;   b. ii kl;Lk;   c. ,uz;Lk; 
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
154. Which is India first Island district? 

a. Andaman    b. Lakshadweep  c. Majuli 
d. Nicobar    e. Answer not known 
,e;jpahtpd; Kjy; jPT khtl;lk; vJ? 
a. me;jkhd;    b. yl;rj;jPTfs;  c. k[_yp 
d. epf;Nfhghu;    e. tpil njhpatpy;iy 

 
155. Arrange the following mountains ranges from north to south 

1. Karakoram range  2. Ladakh range 
3. Pirpanjal range  4. Zaskar range 
a. 1, 2, 3, 4    b. 2, 1, 4, 3   c. 2, 1, 3, 4 
d. 1, 2, 4, 3    e. Answer not known 
fPo;f;fz;l kiyj;njhlu;fis tlf;Fnjw;fhf thpirg;gLj;Jf. 
1. fhuNfhuk; kiyj;njhlh;  2. ylhf; kiyj;njhlh; 
3. gPu;gQ;ry; kiyj;njhlh;  4. [h];fu; kiyj;njhlh; 
a. 1, 2, 3, 4    b. 2, 1, 4, 3   c. 2, 1, 3, 4 
d. 1, 2, 4, 3    e. tpil njhpatpy;iy 

 
156. P’s income is 25% more than that of Q. By what percentage is Q’s income less than 

P’s? 
a. 25%  b. 10%  c. 20%  d. 12%  e. Answer not known 
P ,d; tUkhdk; Q If; fhl;bYk; 25% mjpfk; vdpy;> Q ,d; tUkhdk; P-If; fhl;bYk; 
vj;jidr; rjtPjk; FiwT? 
a. 25%  b. 10%  c. 20%  d. 12%  e. tpil njhpatpy;iy 
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157. In an examination, 65% students passed in Civics and 60% in History, 40% passed 
in both of these subjects. If 90 students failed in History and Civics both, then what 
is the number of students?  
a. 600   b. 650  c. 700   d. 750  e. Answer not known 
xU Njh;tpy; 65% khzth;fs; FbikapaypYk; 60% khzth;fs; tuyhW ghlj;jpYk; 
Njh;r;rp mile;jdh;. 40% khzth;fs; ,uz;L ghlj;jpYk; Njh;r;rp mile;jdh;. nkhj;jk; 
90 khzth;fs; ,uz;L ghlj;jpYk; Njhy;tp mile;jhh;fs; vdpy; nkhj;jk; cs;s 
khzth;fspd; vz;zpf;if  
a. 600   b. 650  c. 700   d. 750  e. tpil njhpatpy;iy 

 
158. If 35% of a number is 175, then what percent of 175 is that number?  

a. 35%  b. 65%  c. 280% d. 285
5

7
%  e. Answer not known 

xU vz;zpd; 35% vd;gJ 175 vdpy; me;j vz; 175 y; vt;tsT rjtPjk;?  

a. 35%  b. 65%  c. 280% d. 285
5

7
%  e. tpil njhpatpy;iy 

 

159. The sum of two numbers is 
28

25
  of the first number. The second number is what 

percent of the first?  
a. 12%   b. 14%  c. 16%  d. 18%  e. Answer not known 

,U vz;fspd; $Ljy; 
28

25
 klq;F Kjy; vz;zhFk;> vdpy; ,uz;lhtJ vz; Kjy; 

vz;zpy; vt;tsT rjtPjk;?  
a. 12%   b. 14%  c. 16%  d. 18%  e. tpil njhpatpy;iy 

 
160. 15 sweets are divided between Sharath and Bharath, so that they 20% and 80% of 

them respectively. Find the number of sweets got by each.  
a. 3, 12  b. 4, 11 c. 6, 9   d. 5, 10  e. Answer not known 
15 ,dpg;Gfis ruj;jpw;Fk; guj;jpw;Fk; gq;fpl;L nfhLf;Fk; NghJ ruj; vd;gtUf;F 
20%-k;> guj; vd;tUf;F 80%-k; fpilj;jhy; ,UtUf;Fk; fpilj;j ,dpg;Gfs; KiwNa  
a. 3, 12  b. 4, 11 c. 6, 9   d. 5, 10  e. tpil njhpatpy;iy 

 
161. The southern oscillation is observed between the oceans of  

a. Atlantic and Pacific  b. Indian and Atlantic c. Arctic and Atlantic  
d. Indian and Pacific  e. Answer not known 
njd; miyT vd;gJ ngUq;fly;fSf;fpilNa eilngWk; epfo;T? 
a. ml;yhz;bf; kw;Wk; grpgpf; b. ,e;jpa kw;Wk; ml;yhz;bf; 
c. Mu;bf; kw;Wk; ml;yhz;bf; d. ,e;jpa kw;Wk; grpgpf; 
e. tpil njhpatpy;iy 

 
162. Gandikota canyon of South India was created by which one of the following rivers? 

a. Cauvery   b. Manjira   c. Pennar 
d. Tungabhadra  e. Answer not known 
njd;dpe;jpahtpd; fe;jpNfhlh gs;sj;jhf;F gpd;tUk; ve;j ejpahy; cUthf;fg;gl;lJ? 
a. fhtphp   b. kQ;rpuh   c. ngz;zhW 
d. Jq;fgj;uh   e. tpil njhpatpy;iy 
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163. In the northern hemisphere, the longest day of the year normally occurs in the  
a. First half of the month of June  b. Second half of the month of June 
d. First half of the month of July  d. Second half of the month of July 
e. Answer not known 
nghJthf tlmiuf;Nfhsj;jpy; Mz;bd; kpf ePz;l ehs; vg;NghJ fhzg;gLfpwJ? 
a. [_d; khjj;jpd; Kjy; ghjp  b. [_d; khjj;jpd; ,uz;lhk; ghjp 
c. [_iy khjj;jpd; Kjy; ghjp  d. [_iy khjj;jpd; ,uz;lhk; ghjp 
e. tpil njhpatpy;iy 

 
164. The Naval physical and oceanographic laboratory is located at 

a. Cochin   b. Goa    c. Mumbai 
d. Chennai   e. Answer not known 
flw;gil ,aw;gpay; kw;Wk; fly;rhu; Ma;tfk; mike;Js;s ,lk;. 
a. nfhr;rpd;   b. Nfhth   c. Kk;ig 
d. nrd;id   e. tpil njhpatpy;iy 

 
165. How many pairs are correctly matched? 

Railway Zone   Headquarter 
i) Southerncoast Railway - Vishakapatnam 
ii) Konkan Railway  - Navi Mumbai 
iii) South Western Railway - Jabalpur 
iv) West Central Railway - Hubli 
a. One pair    b. Two pairs   c. Three pairs 
d. Four pairs    e. Answer not known 
rupahfg; nghUe;jpa ,izfs; vj;jid? 
uapy;Nt kz;lyk;    jiyikaplk; 
i) njw;F flw;fiu uapy;Nt  - tprhfg;gl;bdk; 
ii) nfhq;fd; uapy;Nt  - etpKk;ig 
iii) njd;Nkw;F uapy;Nt  -  [ly;G+h; 
iv) Nkw;F kj;jpa uapy;Nt  - `g;sp 
a. Xu; ,iz    b. ,uz;L ,izfs;  c. %d;W ,izfs; 

d. ehd;F ,izfs;   e. tpil njhpatpy;iy 
 

166. Choose the correct statements 
i) The sands of Kerala coast have large quantity of Monazite which is used for 

nuclear power. 
ii) Kerala backwaters are important tourist destinations. 
a. i only   b. ii only    c. Both 
d. None    e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
i) Nfus flw;fiu kzypy; mZrf;jpf;F gad;gLj;jg;gLk; Nkhdirl; mjpf 

mstpy; cs;sJ. 
ii) Nfus cg;gq;fopfs; Kf;fpakhf Rw;Wyhj; jyq;fshFk;. 
a. i kl;Lk;   b. ii kl;Lk;    c. ,uz;Lk; 
d. VJkpy;iy   e. tpil njhpatpy;iy 
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167. How many pairs are correctly matched? 
River   Origin 
i) Indus - Glaciers of Kailash range 
ii) Jhelum - Verinag 
iii) Chenab - Baralacha pass 
iv) Ravi - Rohtang pass 
a. One pair   b. Two pairs   c. Three pair 
d. Four pair   e. Answer not known 
rupahfg; nghUe;jpa ,izfs; vj;jid? 
ejp    Njhw;wk; 
i) rpe;J   - ifyh~; kiyj;njhlupYs;s gdpg;ghiwfs; 
ii) [Pyk;  - ntupdhf; 
iii) nrdhg;  - ghuhyr;rh fztha; 
iv) uhtp  - Nuhl;lhq; fztha; 
a. Xu; ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
168. Choose the incorrect statements about Indus water treaty. 

i) It is a water distribution treaty between India and Pakistan signed on 
September 19, 1960. 

ii) The treaty was signed by the Prime Minister Jawaharlal Nehru and Pakistan’s 
President Ayub Khan. 

iii) It was mediated by World Bank 
iv) According to this treaty India has the rights over Western flowing rivers of 

Indus 
a. i, ii    b. iii only   c. iv only 
d. none   e. Answer not known 
rpe;J ejpePu; xg;ge;jk; gw;wpa jtwhd $w;Wfisj; Nju;T nra;f. 
i) ,e;jpahtpw;Fk; ghfp];jhdpw;Fk; ,ilNaahd ejpePh; tpepNahf xg;ge;jkhdJ. ,J 

nrg;lk;gu; 19> 1960 md;W ifnaOj;jhdJ. 
ii) ,t;nthg;ge;jk; md;iwa ,e;jpa gpujku; [t`u;yhy; NeUTf;Fk; ghfp];jhdpd; 

FbauR jiytu; MAg;fhDf;FkpilNa ifnaOj;jhdJ. 
iii) ,t;nthg;ge;jj;jpid cyf tq;fp eLtuhf ,Ue;J elj;jpaJ. 
iv) ,t;nthg;ge;jg;gb ,e;jpahtpw;F Nkw;Fg;ghAk; ejpfs; kPjhd mjpfhuk; 

toq;fg;gl;lJ. 
a. i, ii    b. iii kl;Lk;   c. iv kl;Lk; 
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
169. Which of the following rivers are east flowing peninsular rivers? 

i. Pennar   ii. Brahmani   iii. Sarada 
iv. Ponnaiyar   v. Cauvery 
a. i, ii    b. iv, v    c. v only 
d. All the above  e. Answer not known 
gpd;tUk; ejpfspy; fpof;F Nehf;fp ghAk; jPgfw;g ejpfs; vit? 
i. ngz;zhW   ii. gpuhkzp   iii. rhujh 
iv. nghd;idahW  v. fhNtup 
a. i, ii    b. iv, v    c. v kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
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170. Which is the left bank tributary of the river Godavari? 
a. Wardha   b. Manjira   c. Peddavagu 
d. Maner   e. Answer not known 
Nfhjhtup ejpapd; ,lJ JizahW vJ? 
a. thu;jh   b. kQ;rpuh   c. nglthF 
d. kNdu;   e. tpil njhpatpy;iy 

 
171. Choose the correct statements 

i) Troposphere is known as weather sphere 
ii) In atmosphere the altitude of 16km to 50km from the earth is called as 

stratosphere. 
iii) The uppermost atmosphere is called as Exosphere. 
a. i, ii     b. i, iii    c. ii, iii 
d. All the above   e. Answer not known 
rupahd $w;Wfisj; Nju;T nra;f. 
i) mbmLf;F thdpiy mLf;F vd;wiof;fg;gLfpwJ. 
ii) tspkz;lyj;jpy; Gtp gug;gpypUe;J 16fp.kP. Kjy; 50fp.kP. tiu cs;s gFjp 

gilaLf;F. 
iii) tspkz;lyj;jpd; NkyLf;F vf;N]h];gpah; vd;wiof;fg;gLfpwJ. 
a. i, ii     b. i, iii    c. ii, iii 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
172. Which type of rainfall is closely associated with equatorial region? 

a. Monsoon rainfall  b. Orographic rainfall c. Conventional rainfall 
d. Cyclonic rainfall  e. Answer not known 
G+kj;jpa gFjpapy; nga;Ak; kiog; nghoptpd; tif 
a. gUtf;fhw;W kio b. kiyjil kio  c. ntg;gr;ryd kio 
d. Gay; kio  e. tpil njhpatpy;iy 

 
173. Choose the correct statements. 

i) The highest level of coastal erosion is found in Gujarat. 
ii) The Brahmaputra river originate in Tibet is locally known as Tsangpo. 
a. i only    b. ii only   c. Both 
d. None    e. Answer not known 
rupahdf; $w;Wfisj; Nju;T nra;f. 
i) kpf mjpf msT flw;fiu mupg;G Vw;gl;Ls;s khepyk; F[uhj;. 
ii) gpuk;kGj;jpuh MW rhq;Ngh vd;w ngaUld; jpngj;jpy; cUthfpwJ. 
a. i kl;Lk;    b. ii kl;Lk;   c. ,uz;Lk; 
d. VJkpy;iy    e. tpil njhpatpy;iy 

 
174. Choose the correctly matched pairs. 

i) M.S. Swaminathan - Father of Green revolution in India 
ii) Varghese Kurien  - Father of White revolution  
iii) Hiralal Chaudhuri - Father of Blue revolution in India 
a. i, ii  b. i, iii  c. ii, iii  d. All the above e. Answer not known 
rupahfg; nghUj;jpa ,izfisj; Nju;T nra;f. 
i) M.S. Rthkp ehjd;  - ,e;jpa gRikg;Gul;rpapd; je;ij 
ii) tu;fP]; Fupad;  - nts;isg;Gul;rpapd; je;ij 
iii) `puhyhy; nrsj;up - ,e;jpa ePyg;Gul;rpapd; je;ij 
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a. i, ii     b. i, iii    c. ii, iii  
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
175. How many pairs are correctly matched? 

Rivers     Flowing States 
i) Godavari  - Maharashtra, Andhra-Telangana, Chattisgarh 
ii) Tapti  - Maharashtra, Madhyapradesh, Gujarat 
iii) Krishna  - Maharashtra, Karnataka, Tamilnadu, Andhra 
iv) Kaveri  - Karnataka, Tamilnadu 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
rupahfg; nghUe;jpa ,izfs; vj;jid? 
MWfs;    ghAk; khepyq;fs; 
i) Nfhjhtup  - kfhuh~;buh> Me;jpuh> njYq;fhdh> rj;jP];fu; 
ii) jgjp  - kfhuh~;buh> kj;jpagpuNjrk;> F[uhj; 
iii) fpU~;zh  - kfhuh~;buh> fu;ehlfk;> jkpo;ehL> Me;jpuh 
iv) fhNtup  - fu;ehlfk;> jkpo;ehL 
a. Xu; ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 

176. Match the following 
A. Tamilnadu  1. Todas 
B. Uttarakhand  2. Tharu 
C. Telangana   3. Chenchus 
D. Rajasthan   4. Bhils 

  A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 1 3 4 2  
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf 
A. jkpo;ehL   1. Njhlu;fs; 
B. cj;jufhz;l;  2. jhU 
C. njYq;fhdh  3. nrd;R]; 
D. uh[];jhd;  4. gpy; 

  A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 1 3 4 2  
d. 1 4 3 2 
e. tpil njhpatpy;iy 

 

177. Choose the correct statements about particularly vulnerable Tribal Group (PVTGs) 
i) In 1975, the Government of India declared 52 tribal Groups as PVIGs on the 

recommendation of Dhebar commission. 
ii) PVTGs are spread over 18 states and one Union Territory in the country as per 

2011 census. 
a. i only b. ii only c. Both d. None e. Answer not known 
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Fwpg;ghf ghjpf;ff;$ba goq;Fbapdu; FOf;fs; (PVTGs) gw;wpa rupahd $w;Wfisj; 
Nju;T nra;f. 
i) 1975-,y; Njgu; fkp~d; gupe;Jiug;gb ,e;jpa muR 52 goq;Fbapd FOf;fis 

PVTG Mf mwptpj;jJ. 
ii) 2011 kf;fs;njhif fzf;nfLg;Gg;gb PVTG-f;fs; ehl;bd; 18 khepyq;fs; kw;Wk; 

xU A+dpad; gpuNjrj;jpy; gutpAs;sdu;. 
a. i kl;Lk;    b. ii kl;Lk;   c. ,uz;Lk;  
d. VJkpy;iy    e. tpil njhpatpy;iy 

 

178. How many pairs are correctly matched? 
i) National Green Tribunal Act - 2010 
ii) The Biological diversity Act - 1992 
iii) Forest Rights Act  - 2005 
iv) Water Cess Act   - 1974 
a. One pair    b. Two pairs   c. Three pairs 
d. Four pairs    e. Answer not known 
rupahfg; nghUe;jpa ,izfs; vj;jid? 
i) Njrpa gRik jPh;g;gha rl;lk;  - 2010 
ii) capupay; gy;tifikr; rl;lk;  - 1992 
iii) td cupikfs; rl;lk;   - 2005 
iv) ePu; nr]; (thp) rl;lk;   - 1974 
a. Xu; ,iiz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;   e. tpil njhpatpy;iy 

 

179. Choose the correct pairs regarding Ramsar sites in Tamilnadu. 
i) Karikili Bird Sanctuary - Chengalpattu 
ii) Suchindram Theroor - Kanniyakumari 
iii) Vembanur Wetland - Tirunelveli 
iv) Vellode Bird Sanctuary - Erode 
a. i, ii     b. iii, iv   c. i, ii, iv 
d. All the above   e. Answer not known 
jkpo;ehl;bYs;s uhk;rhu; jsq;fspy; rupahfg; nghUe;jpa ,izfisj; Nju;T nra;f. 
i) fupfpsp gwitfs; ruzhyak;  - nrq;fy;gl;L 
ii) RrPe;jpuk; Nj&u;    - fd;dpahFkhp 
iii) Ntk;gD}u; <uepyk;   - jpUney;Ntyp 
iv) nts;NshL gwitfs; ruzhyak; - <NuhL 
a. i, ii     b. iii, iv   c. i, ii, iv 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 

180. Match the following 
A. Project Tiger   1. 1973 
B. Project Elephant   2. 1992 
C. Project Vulture   3. 2009 
D. Project Snow Leopard  4. 2006 

  A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 1 4 3 2 
d. 1 3 4 2 
e. Answer not known 
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nghUj;Jf. 
A. Gyp jpl;lk;   1. 1973 
B. ahid jpl;lk;   2. 1992 
C. fOF jpl;lk;   3. 2009 
D. gdprpWj;ij jpl;lk;  4. 2006 

A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 1 4 3 2 
d. 1 3 4 2 
e. tpil njhpatpy;iy 

 
181. The pugmark Technique is related to 

a. Population census  b. Tiger census  c. Cattle census 
d. Forest cover   e. Answer not known 
Gf;khu;f; njhopy;El;gk; vjDld; njhlu;GilaJ? 
a. kf;fs;njhif fzf;nfLg;G b. Gypfs; fzf;nfLg;G  
c. fhy;eil fzf;nfLg;G  d. fhLfspd; guty;  e. tpil njhpatpy;iy 

 
182. Choose the incorrectly matched pair/s. 

i) Seismograph - To measure the intensity of earthquake shocks 
ii) Dosimeter  - exposure to hazards especially radiation 
iii) Katharometer - measures the composition of gases 
a. i, ii     b. i, iii    c. ii, iii 
d. All the above   e. Answer not known 
jtwhfg; nghUe;jpa ,izfisj; Nju;T nra;f. 
i) rp];Nkhfpuh/g; - G+fk;g mjpu;r;rpapd; jPtpuj;ij mstpLfpwJ. 
ii) NlhrpkPl;lu;  - fjpu;tPr;R njhlu;ghd ,lu;fisf; fzf;fpl 
iii) NfjNuhkPl;lu; - thAf;fspd; fiyitiaf; fzf;fpl 
a. i, ii     b. i, iii    c. ii, iii 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 

183. Match the following 
Wildlife Sanctuary  State 
A. Kamlang   1. West Bengal 
B. Valmiki   2. Arunachal Pradesh 
C. Mahananda  3. Bihar 
D. Girnar   4. Gujarat 

  A B C D 
a. 1 2 3 4 
b.  2 1 3 4 
c. 2 3 1 4 
d. 2 4 1 3  e. Answer not known 
nghUj;Jf 
tdtpyq;F ruzhyak; khepyk; 
A. fk;yhq;   1. Nkw;Ftq;fk; 
B. thy;kPfp   2. mUzhr;ry gpuNjrk; 
C. kfhee;jh   3. gPfhu; 
D. fpu;dhu;   4. F[uhj; 
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  A B C D 
a. 1 2 3 4 
b.  2 1 3 4 
c. 2 3 1 4 
d. 2 4 1 3 
e. tpil njhpatpy;iy 

 
184. Choose the correct statements regarding climatic conditions of Rain forests 

i) Annual rainfall exceeds 250cm 

ii) The annual temperature is about 20 - 25C. 
iii) The average annual humidity exceeds 77%. 
a. i, ii  b. i, iii  c. ii, iii  d. All the above e. Answer not known 
kiof;fhLfspd; fhyepiyfs; gw;wpa rupahd $w;Wfisj; Nju;T nra;f. 
i) Mz;L kiog;nghopT 250 nrkP-ia tpl mjpfk;. 
ii) Mz;L ntg;gepiy Rkhh; 20-25C, 
iii) ruhrhpahd Mz;L <ug;gjk; 77% f;Fk; mjpfk;. 
a. i, ii  b. i, iii  c. ii, iii       d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
185. Match the following 

A. NW-1   1. Allahabad - Haldia 
B. NW-2   2. Sadiya – Dhubri 
C. NW-3   3. Kottapuram – Kollam 
D. NW-4   4. Kakinada – Puducherry 

A B C D 
a. 1 2 3 4 
b. 1 4 2 3 
c.  2 1 4 3 
d. 2 1 3 4 
e. Answer not known 
nghUj;Jf 
A. NW-1   1. myfhghj; - `hy;bah 
B. NW-2   2. rhbah – J}g;up 
C. NW-3   3. Nfhl;lGuk; - nfhy;yk; 
D. NW-4   4. fhf;fpehlh – GJr;Nrup 

A B C D 
a. 1 2 3 4 
b. 1 4 2 3 
c.  2 1 4 3 
d. 2 1 3 4 
e. tpil njhpatpy;iy 

 
186. Which of the following located at very low damage risk zone while earthquake? 

a. Deccan Plateau  b. Western Ghats   c. Kashmir valley 
d. Rann of Kutch  e. Answer not known 
epyeLf;fj;jpd;NghJ kpf Fiwthd ghjpg;G Vw;gLk; kz;lyj;jpy; ,Uf;Fk; gFjp vJ? 
a. jf;fhz gPlG+kp  b. Nkw;Fnjhlu;r;rp kiyfs;   c. fh~;kPu; gs;sj;jhf;F 
d. fl;r; gFjp   e. tpil njhpatpy;iy 
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187. The average annual rainfall less than 20 cm is recorded in which part of Rajasthan? 
a. Eastern Rajasthan   b. Western Rajasthan  c. Southern Rajasthan 
d. Northern Rajasthan  e. Answer not known 
,uh[];jhdpy; ve;jg; gFjpapy; ruhrhp Mz;L kiog;nghopT 20 nr.kPf;Fk; Fiwthfg; 
gjpthfpwJ. 
a. fpof;F ,uh[];jhd;  b. Nkw;F ,uh[];jhd; c. njw;F ,uh[];jhd; 
d. tlf;F ,uh[];jhd;  e. tpil njhpatpy;iy 

 
188. The __________ ocean is the youngest ocean  

a. Indian    b. Southern    c. Arctic   
d. Atlantic   e. Answer not known 
,isa ,gUq;fly; vdg;gLk; ngUq;fly; 
a. ,e;jpag; ngUq;fly; c. njd; ngUq;fly;  c. Mh;bf; ngUq;fly; 
d. ml;yhz;bf; ngUq;fly; e. tpil njhpatpy;iy 

 
189. Match the following: 

A. Sambar Lake   1. Odhisha 
B. Pulicat Lake   2. Kerala 
C. Chilka Lake   3. Rajasthan 
D. Vembanad Lake   4. Andhra Pradesh and Tamil Nadu 

  A B C D 
a. 3 1 4 2 
b. 3 4 1 2 
c. 3 2 1 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf : 
A. rhk;ghh; Vhp    1. xb~h 
B. Gypfhl; Vhp    2. Nfush 
C. rpypf;fh Vhp   3. ,uh[];jhd; 
D. Ntk;gehL Vhp   4. Me;jpug; gpuNjrk; kw;Wk; jkpo;ehL 

A B C D 
a. 3 1 4 2 
b. 3 4 1 2 
c. 3 2 1 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 

 
190. World’s highest Active Volcano is found in 

a. Japan b. Italy c. Ecuador d. Kenya e. Answer not known 
cyfpd; kpf cah;e;j nray;gLk; vhpkiy fhzg;gLk; ehL 
a. [g;ghd; b. ,j;jhyp c. <f;tlhh; d. nfd;ah e. tpil njhpatpy;iy 

 

191. Where Arasur mountain is located? 
a. Easter Kerala  b. Eastern Gujarat  c. Western Andhra Pradesh 
d. Western Tamil Nadu e. Answer not known 
mu#h; kiy mike;Js;s gpuNjrkhdJ 
a. fpof;F Nfush  b. fpof;F F[uhj;  c. Nkw;F Me;jpug;gpuNjrk;  
d. Nkw;F jkpo;ehL  e. tpil njhpatpy;iy 



 

50 | Page  044-24339436, 42867555, 9840226187 
 

192. State the meaning of Inversion of Temperature 
a. Increasing temperature with increasing height 
b. Decreasing temperature with increasing height 
c. Increasing temperature with decreasing height 
d. Increasing temperature with increasing humidity 
e. Answer not known 
ntg;g jiyfPo; khw;wj;jpw;fhd tpsf;fk; 
a. cauk; mjpfhpf;Fk; NghJ ntg;gKk; mjpfhpf;Fk; 
b. cauk; mjpfhpf;Fk; NghJ ntg;gKk; FiwfpwJ 
c. cauk; FiwAk; NghJ ntg;gKk; mjpfhpf;fpwJ 
d. <ug;gjk; mjpfhpf;Fk; NghJ ntg;gKk; mjpfhpf;fpwJ 
e.  tpil njhpatpy;iy 

 
193. The State the experiences longest rainy season in India is  

a. Tamil Nadu   b. Kerala   c. Karnataka 
d. Gujarat    e. Answer not known 
,e;jpahtpy; ePz;l kiof;fhy gUtj;ij njhz;bUf;Fk; khepykhdJ 
a. jkpo;ehL    b. Nfusk;    c. fh;ehlfk;  
c. F[uhj;    e. tpil njhpatpy;iy 

 
194. An example of Conventional energy resource is 

a. Geothermal energy b. OTEC energy  c. Dendrothermal energy 
d. Coal energy  e. Answer not known 
kuG rhh;e;j vhprf;jp tsj;jpw;F Xh; cjhuzk; 
a. Gtp ntg;g Mw;wy; b. OTEC Mw;wy;  c. kuntg;g Mw;wy; 
d. epyf;fhp Mw;wy;  e. tpil njhpatpy;iy 

 
195. The Headquarter of Pavan-Hans Helicopter Ltd. is 

a. Kolkatta   b. Mumbai   c. New Delhi  
d. Chennai   e. Answer not known  
gtd;-`hd;]; thDyq;F Ch;jp (n`ypfhg;lh;) epWtdj;jpd; jiyikaplk; 
__________ MFk;. 
a. nfhy;fj;jh  b. Kk;ig   c. GJnly;yp 
d. nrd;id   e. tpil njhpatpy;iy 

 
196. 35% of A is equal to the 45% of B. The difference between A and B is 186, then 40% 

of the sum of A and B?     
a. 562.4  b. 548.6 c. 595.2 d. 532.2  e. Answer not known 
A d; 35 rjtPjk; vd;gJ B d; 45 rjtPj;jpw;Fr; rkk;. A kw;Wk; B vd;gtUf;F ,ilNa 
Md tpj;jpahrk; 186 vdpy; A kw;Wk; B d; $Ljypd; 40% vt;tsT?  
a. 562.4  b. 548.6 c. 595.2 d. 532.2  e. tpil njhpatpy;iy 

 
197. Hameed buys a colour T.V. set for Rs. 15,200 and sells it at a loss of 20% what is the 

selling price of the TV set?  
a. Rs. 12, 360   b. Rs. 12,260   c. Rs. 12,160  
d. Rs. 12,460    e. Answer not known 
`kPJ xU tz;zj; njhiyf;fhl;rpg; ngl;bia & 15>200 f;F thq;Ffpd;whh;. ,jid 
20% el;lj;jpw;F tpw;whh; vdpy;> mj;njhiyf;fhl;rpg; ngl;bapd; tpw;gid tpiy vd;d?  
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a. Rs. 12, 360   b. Rs. 12,260   c. Rs. 12,160  
d. Rs. 12,460    e. tpil njhpatpy;iy 

 
198. Vinoth purchased a house for Rs.27,50,000. He spent Rs.2,50,000 on repairs and 

painting. If he sells the house for Rs.33,00,000. What is his profit or loss%? 
a. 15% loss  b. 5%  profit   c. 20% loss   
d. 10% profit e. Answer not known 
xU tPl;il tpNdhj; & 27>50>000 f;F thq;fpdhh;. mth; tPl;il rPh; nra;tjw;fhf & 
2>50>000 I nrytpLfpwhh;. me;j tPl;il & 33>00>000 f;F tpw;fpwhh;. vdpy;> ,yhg (m) 
el;l rjtPjj;ijf; fz;Lg;gpbf;fTk;.  
a. 15% el;lk;  b. 5%  yhgk;   c. 20% el;lk; 
d. 10% yhgk;  e. tpil njhpatpy;iy 

 
199. A Vegetable vendor bought 40 kg of onions for ì 360. He sold 36 kg at ì 11 per kg. 

The rest were sold at ì 4.50 per kg as they were not very good. Find his profit/loss 
percent.  
a. 15% loss  b. 15% profit   c. 25% profit     
d. 25% loss   e. Answer not known 
xU fha;fwp tpahghhp 40fpNyh ntq;fhaj;ij ì 360f;F thq;Ffpwhh;. mth; xU fpNyh 
ì 11 vd;w tpiyf;F 36 fpNyhit tpw;fpwhh;. kPjKs;stw;iw xU fpNyh ì 4.50 vd;w 
tpiyf;F tpw;whh;. mtUf;F fpilj;j ,yhg / el;l rjtPjj;ijf; fhz;f.  
a. 15% el;lk;  b. 15% yhgk;    c. 25% yhgk; 
d. 25% el;lk;  e. tpil njhpatpy;iy 

 

200. If the selling price of a LED TV is equal to 
5

4
of its cost price, then find the gain / 

profit percentage. 
a. 15%  b. 10%  c. 20%  d. 25%  e. Answer not known 
Xh; vy;.,.b (LED) njhiyf;fhl;rpapd; tpw;gid tpiy mjd; mlf;f tpiyiag; 

Nghd;W 
5

4
klq;F vdpy;> ,yhgr; rjtPjk; fhz;f.  

a. 15%  b. 10%  c. 20%  d. 25%  e. tpil njhpatpy;iy 
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